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Topic:­ General Science
1)

Question Stimulus :­

To sharpeŶ the ďlades of sĐissors ďǇ ruďďiŶg it agaiŶst a surfaĐe, ǁhiĐh of the folloǁiŶg ǁill ďe ŵost suitaďle
surfaĐe? / एक ऺतऻ पर रगीकर क塪� चॎ कॕ ៃ� लॕडख़ ॠ कख़ तॕज करनॕ कॕ ोलए‚ ोनៃ� न मꬅ ऺॕ ऺबऺॕ उपयॏ縄 त ऺतऻ कग़न ऺॎ ऻख़गॎ?

Rough stoŶe / ꬅퟀ� प𐀆 थर

Plas�Đ ďloĐk / 〄 लॊ៚�៭�क कॊ टॏकीॊ

Glass ďloĐk / ोगलॊऺ कॊ टॏकीॊ

WoodeŶ ďloĐk / लकीॎ कॊ टॏकीॊ

Correct Answer :­Rough stoŶe / ꬅퟀ� प𐀆 थर 

2)

Question Stimulus :­

KaleidosĐope is aŶ op�Đal iŶstruŵeŶt that ǁorks oŶ the priŶĐiple of / कॕलॊइडख़𐀆 कख़प एक ꬅकॊोषक यॠꬅ ऻॖ जख़
इऺकॕ ोऺ埀�ॊⰂ त पर कॊय塪� करतॊ ऻॖ ­

RefraĐ�oŶ / अपशत塪�न

Irregular refleĐ�oŶ / अोनयोमत परॊशत塪�न

Mul�ple refleĐ�oŶ / बꬅोलत परॊशत塪�न

DispersioŶ / प埉�रퟀॕ�पण

Correct Answer :­Mul�ple refleĐ�oŶ / बꬅोलत परॊशत塪�न 

3)

Question Stimulus :­

While takiŶg off the sǁeater duriŶg ǁiŶter a ĐraĐkliŶg souŶd is heard ďeĐause / ऺोद塪�यख़ ॠ मꬅ 𐀆 शॕटर ोनकॊलतॕ ऺमय
चटचटॊऻट कॎ Ⰲ शोन  ॏऺनॊई पड◌़तॎ ऻॖ 縄 यख़ ॠोक ‐

Electric charges are generated through conduction / चॊलन ऺॕ ोशद्यॏ त आशॕष उ𐀆 पⰂ न ऻख़तॕ ऻ塪�

EleĐtriĐ Đharges are geŶerated through iŶduĐ�oŶ / ꬅॕरण ऺॕ ोशद्यॏ त आशॕष उ𐀆 पⰂ न ऻख़तॕ ऻ塪�

EleĐtriĐ Đharges are geŶerated through friĐ�oŶ / घह塪�ण ऺॕ ोशद्यॏ त आशॕष उ𐀆 पⰂ न ऻख़तॕ ऻ塪�

Charges are acquired due to magnetic force / चॏៃ� बकॎय बल कॕ कॊरण  आशॕष अोज塪�त ऻख़तॕ ऻ塪�

Correct Answer :­EleĐtriĐ Đharges are geŶerated through friĐ�oŶ / घह塪�ण ऺॕ ोशद्यॏ त आशॕष उ𐀆 पⰂ न ऻख़तॕ ऻ塪� 

4)



Question Stimulus :­

The ďird Dodo is aŶ eǆaŵple of / डख़डख़ पퟀ�ॎ इऺकॊ एक उदॊऻरण ऻॖ

Endangered species /  लॏퟷ�ꬅॊय ꬅजॊोतयॊॠ

Eǆ�ŶĐt speĐies / ोशलॏퟷ� ꬅजॊोतयॊॠ

ThreateŶed speĐies / ोशलख़पख़Ⰲ मॏखॎ ꬅजॊोतयॊॠ

Endemic species /  𐀆 थॊोनक ꬅजॊोतयॊॠ

Correct Answer :­Eǆ�ŶĐt speĐies / ोशलॏퟷ� ꬅजॊोतयॊॠ 

5)

Question Stimulus :­

Oxy Acetylene torches are used / ऑ埣�ॎ एोऺोटलॎन टॗचꬅ कॊ इំॕ�मॊल ोकयॊ जॊतॊ ऻॖ।

For making microchips / मॊइꬅख़ोचៀ� बनॊनॕ कॕ ोलए

For packaging food items / खॊ埉� पदॊथꬅ कॎ पॖकॕोजॠग कॕ ोलए

For welding & cutting metals / शॕ៚��ॠग और धॊतॏओॠ कख़ कॊटनॕ कॕ ोलए

In cutting & drilling tools / कॊटनॕ और ोड塪� ोलॠग उपकरणख़ ॠ मꬅ

Correct Answer :­For welding & cutting metals / शॕ៚��ॠग और धॊतॏओॠ कख़ कॊटनॕ कॕ ोलए 

6)

Question Stimulus :­

Identify the INCORRECT statement / गलत कथन कख़ पऻचॊोनयॕ­

All green plants are autotrophic / ऺभॎ ऻरॕ पग़धॕ, 𐀆 शपख़ोहत ऻ塪�।

Red coloured leaves cannot perform photosynthesis / लॊल रॠग कॎ पोퟎ�यॊँ ꬅकॊष  ॠऺ𐀆 लॕहण नऻॎ ॠ कर
ऺकतॎ।

Algae can prepare their own food / षॖशॊल अपनॊ भख़जन 𐀆 शयॠ तॖयॊर कर ऺकतॕ ऻ塪�।

Plants absorb nitrogen from soil / पग़धॕ ोमꨂॎ ऺॕ नॊइट塪� ख़जन अशषख़ोहत करतॕ ऻ塪�।

Correct Answer :­Red coloured leaves cannot perform photosynthesis / लॊल रॠग कॎ पोퟎ�यॊँ ꬅकॊष  ॠऺ𐀆 लॕहण
नऻॎ ॠ कर ऺकतॎ। 

7)

Question Stimulus :­

The Wool from sheep is used to make clothes. Wool is removed from sheep by a process called  / भॕी कॎ ऊन, कपीॕ
बनॊनॕ कॕ ोलए ꬅयख़ग कॎ जॊतॎ ऻॖ। ऊन कख़ भॕी ऺॕ एक ꬅोꬅयॊ 埉�ॊरॊ ऻटॊयॊ जॊतॊ ऻॖ जख़ कऻलॊतॎ ऻॖ

Scouring /  ोनघ塪�ह塪�ण

Shearing / ऊन कटॊई

Carding / धॏनॊई



Sorting / छँटॊई

Correct Answer :­Shearing / ऊन कटॊई 

8)

Question Stimulus :­

The safety device in electrical appliance is / ोशद्यॏ त उपकरण मꬅ  ॏऺरퟀ�ॊ ोडशॊइऺ ऻॖ ­   

Connecting wires /  ॠऺयख़जॎ तॊरॕ

Resistors / ꬅोतरख़धक

Fuse / 𐀆यॐि

Battery / बॖटरॎ

Correct Answer :­Fuse / 𐀆यॐि 

9)

Question Stimulus :­

Contaminants like Faecal matter, food wastes that pollute water are called / जल कख़
ꬅदॐ ोहत करनॕ शॊलॕ मल पदॊथ塪�‚ खॊद◌्य अपोष𐀆 ट जॖऺॕ  ॠऺदॐ हक कऻलॊतॕ ऻ塪�

Biological contaminants / जॖोशक  ॠऺदॐ हक

Chemical contaminants / रॊऺॊयोनक  ॠऺदॐ हक

Suspended Particulate matter / ोनल៚�ះ�त कोणकॎय पदॊथ塪�

Silt / ोऺ⠅ ट

Correct Answer :­Biological contaminants / जॖोशक  ॠऺदॐ हक 

10)

Question Stimulus :­

Cultivation of Legumes & grasses are examples of / फोलयख़ ॠ और घॊऺख़ ॠ कॎ खॕतॎ इऺकॕ उदॊऻरण ऻ塪�

GreeŶ ŵaŶure / ऻरॎ खॊद

Crop rota�oŶ / ष韷� आशत塪�न

Mul�ple ĐroppiŶg / बꬅऺ𐀆 यन

TraŶsplaŶta�oŶ / पग़द लगॊनॊ

Correct Answer :­GreeŶ ŵaŶure / ऻरॎ खॊद 

11)

Question Stimulus :­

White Phosphorus catches fire on its own at room temperature. This type of combustion is called / कퟀ� तॊप पर ऺफॕद
फॗ𐀆 फख़रऺ 𐀆 शतॡ ऻॎ आग पकी लॕतॊ ऻॖ।  इऺ ꬅकॊर कॊ दऻन कऻलॊतॊ ऻॖ ­



SpoŶtaŶeous Đoŵďus�oŶ / 𐀆 शत◌ॡ दऻन

Rapid Đoŵďus�oŶ / ꬅॏत दऻन

EǆplosioŶ / ोश𐀆 फख़ट

Sloǁ Đoŵďus�oŶ / धॎमॊ दऻन

Correct Answer :­SpoŶtaŶeous Đoŵďus�oŶ / 𐀆 शत◌ॡ दऻन 

12)

Question Stimulus :­

OŶe of the eǆaŵples of effeĐt of forĐe ĐausiŶg ĐhaŶge iŶ shape & size is / आकॊर और ऺॊइज मꬅ प埉�रशत塪�न लॊनॕ
शॊलॕ बल कॕ ꬅभॊश कॕ उदॊऻरणख़ ॠ मꬅ ऺॕ एक ऻॖ

The length of the rubber band increases when it is pulled / खॎ ॠचनॕ पर रबर ब塪�ड कॎ लៃ� बॊई बु जॊतॎ ऻॖ।

A moving toy car can be made to stop  / चलतॎ ꬅई ៚�खलग़नॕ कॎ गॊीॎ कख़ रख़कॊ जॊ ऺकतॊ ऻॖ।

A bicycle can be slowed down by applying brakes / ꬅॕक लगॊकर ऺॊइोकल कख़ धॎमॊ ोकयॊ जॊ ऺकतॊ ऻॖ।

IŶ ĐriĐket, the ďatsŵaŶ hi�Ŷg the ďall ďoǁled at hiŵ / ोꬅकॕट मꬅ‚ ब⠅ लॕबॊज 埉�ॊरॊ उऺ पर फꬅ कॎ गई गꬅद कख़
मॊरनॊ

Correct Answer :­The length of the rubber band increases when it is pulled / खॎ ॠचनॕ पर रबर ब塪�ड कॎ लៃ� बॊई बु जॊतॎ
ऻॖ। 

13)

Question Stimulus :­

Magnesium combines with oxygen to form magnesium oxide. The aqueous solution of MgO turns /
मॖះ�ॎोषयम ऑ埣�ॊइड बनॊनॕ कॕ ोलए मॖះ�ॎोषयम ऑ埣�ॎजन ऺॕ  ॠऺयॏ韐� ऻख़तॊ ऻॖ। MgO कॊ जलॎय ोशलयन बदल दॕतॊ ऻॖ :

Blue litmus red / नॎलॕ ोलटमऺ कख़ लॊल मꬅ

Red litmus blue / लॊल ोलटमऺ कख़ नॎलॕ मꬅ

Has no effect  on litmus paper / ोलटमऺ पॕपर पर कख़ई ꬅभॊश नऻॎ ॠ ऻख़तॊ

Turns phenolphthalein  colourless / फॎनॗल埝�थॕोलन कख़ रॠगऻॎन मꬅ बदल दॕतॊ ऻॖ

Correct Answer :­Red litmus blue / लॊल ोलटमऺ कख़ नॎलॕ मꬅ 

14)

Question Stimulus :­

Identify the decomposer in the following: / ोनៃ� नोल៚�खत मꬅ ऺॕ अपघटक पऻचॊोनए ­

Tulsi / तॏलऺॎ

Fungi / कशक

Lion / षॕर

Ant / चॎ ॠटॎ



Correct Answer :­Fungi / कशक 

15)

Question Stimulus :­

A�er fer�liza�oŶ, the eŵďrǇo gets eŵďedded iŶ the / ोनहॕचन कॕ बॊद, ꬅॐण _________ मꬅ अॠत:𐀆थॊोपत ऻख़ जॊतॊ ऻॖ।

UŵďiliĐal Đord / गभ塪�नॊल

ǁall of the Uterus / गभॊ塪�षय कॎ ोभퟎ�ॎ

Cerǀiǆ / ऺोश塪�埣�

VagiŶa / यख़ोन

Correct Answer :­ǁall of the Uterus / गभॊ塪�षय कॎ ोभퟎ�ॎ 

16)

Question Stimulus :­

TefloŶ Đoa�Ŷgs are ǁidelǇ used iŶ paŶs & other Đookǁare ďeĐause / पॖन और अퟸ� बत塪�नख़ ॠ मꬅ टॕ埧�ॗन कख़ोटॠग कॊ
इំॕ�मॊल इऺोलए ोकयॊ जॊतॊ ऻॖ 埀�ख़ॠोक ­

TefloŶ has a high ŵel�Ŷg poiŶt & preǀeŶts ŵaterials froŵ s�ĐkiŶg to it aŶd ge�Ŷg ďurŶt / टॕ埧�ॗन कॊ गलनॊॠक
अोधक ऻॖ जख़ चॎिख़ ॠ कख़ ोचपकनॕ और जलनॕ ऺॕ रख़कतॊ ऻॖ।

TefloŶ has high therŵal ĐoŶduĐ�ǀitǇ / टॕ埧�ॗन कॎ ऊ韃�ॎय चॊलकतॊ अोधक ऻख़तॎ ऻॖ

TefloŶ has high eleĐtriĐal ĐoŶduĐ�ǀitǇ / टॕ埧�ॗन कॎ ोशद्यॏ त चॊलकतॊ अोधक ऻख़तॎ ऻॖ

TefloŶ has loǁ ŵel�Ŷg poiŶt / टॕ埧�ॗन कॊ गलनॊॠक कम ऻख़तॊ ऻॖ

Correct Answer :­TefloŶ has a high ŵel�Ŷg poiŶt & preǀeŶts ŵaterials froŵ s�ĐkiŶg to it aŶd ge�Ŷg ďurŶt / टॕ埧�ॗन
कॊ गलनॊॠक अोधक ऻॖ जख़ चॎिख़ ॠ कख़ ोचपकनॕ और जलनॕ ऺॕ रख़कतॊ ऻॖ। 

17)

Question Stimulus :­

Tropical rainforests are NOT seen in  /  उ𐀆 णकोटब韺�ॎय शहॊ塪�शन यऻॊँ नऻॎ ॠ दॕखॕ जॊतॕ ऻ塪� ­

India / भॊरत

Greenland / ꬅॎनल塪�ड

Africa / अꬅॎकॊ

Indonesia / इॠडख़नॕोषयॊ

Correct Answer :­Greenland / ꬅॎनल塪�ड 

18)

Question Stimulus :­

The hormone responsible for the growth of hair on the face, broadening of shoulders, & change of voice in boys is /
लीकख़ॠ मꬅ आशॊज कॕ बदलॊश, चॕऻरॕ पर बॊल, कॠ धख़ ॠ कॕ चग़ीॕ ऻख़नॕ कॕ ोलए ोि韘ॕ�दॊर ऻॊमꬅन ऻॖ



IŶsuliŶ / इॠ ॏऺोलन

ThǇroǆiŶ / थॊयरख़៚�埣�न

EstrogeŶ / ए៭�塪�ख़जॕन

TestosteroŶe / टॕ៭�ख़៭ॕ�रख़न

Correct Answer :­TestosteroŶe / टॕ៭�ख़៭ॕ�रख़न 

19)

Question Stimulus :­

Ritu lives by the sea side. She tests sea water & tap water with a tester provided with a magnetic compass. Her
observation will be that  / रॎतॐ ऺमॏꬅ कॕ ोकनॊरॕ रऻतॎ ऻॖ। शऻ ऺमॏꬅॎ जल और नल कॕ पॊनॎ कॊ  चॏॠबकॎय कॠ पॊऺ कॕ ऺॊथ ोदयॕ गयॕ
टॖ𐀆 टर ऺॕ परॎퟀ�ण करतॎ ऻॖ। उऺकॊ अशलख़कन ऻख़गॊ ोक­

Tap water shows more deflection than sea water / नल कॊ पॊनॎ ऺमॏꬅ  कॕ जल ऺॕ अोधक ोशퟀॕ�पण ोदखॊतॊ ऻॖ।

Sea water shows more deflection than tap water / ऺमॏꬅ कॊ जल नल कॕ पॊनॎ ऺॕ अोधक ोशퟀॕ�पण ोदखॊतॊ ऻॖ।   

Both sea water & tap water do not show any deflection / ऺमॏꬅ और नल कॊ पॊनॎ दख़नख़ ॠ
कख़ई ोशퟀॕ�पण नऻॎ ॠ ोदखॊतॕ।

Deflection observed is same in both samples / दख़नख़ ꬅोतदषꬅ मꬅ ꬅ ॕोퟀ�त ोशퟀॕ�पण ऺमॊन ऻॖ।

Correct Answer :­Sea water shows more deflection than tap water / ऺमॏꬅ कॊ जल नल कॕ पॊनॎ ऺॕ अोधक ोशퟀॕ�पण
ोदखॊतॊ ऻॖ।    

20)

Question Stimulus :­

NuĐleus is ĐoŶsidered to ďe the / कॕⰂ ꬅक कख़ मॊनॊ जॊतॊ ऻॖ

SuiĐidal ďags / आ𐀆 मऻ𐀆 यॊ𐀆 मक बॖग

Powerhouses of the cell / कख़ोषकॊ कॊ उजॊ塪� भॠडॊर

KitĐheŶs of the Đell / कख़ोषकॊ कॎ रऺख़ई

BraiŶ of the Đell / कख़ोषकॊ कॊ म៚�𐀆𐀆 ॊ𐀆 क

Correct Answer :­BraiŶ of the Đell / कख़ोषकॊ कॊ म៚�𐀆𐀆 ॊ𐀆 क 

21)

Question Stimulus :­

One decade refers to a period of / एक दषक, इऺ कॊल कख़  ॠऺदोभ塪�त करतॊ ऻॖ।  

10 years / 10  ऺॊल

100 years / 100 ऺॊल

10 days / 10 ोदन

100 days / 100 ोदन



Correct Answer :­10 years / 10  ऺॊल 

22)

Question Stimulus :­

A stainless steel plate gave an erect image which is of the same size as that of the object. The stainless steel plate acts
like a / एक ៭ॕ�नलॕऺ ៭�ॎल ퟀॕ�ट ऺॎधॎ और शំ�ॏ कॕ ऺमॊन आकॊर कॎ छोश दॕतॎ ऻॖ। ៭ॕ�नलॕऺ ៭�ॎल ퟀॕ�ट___________ कॎ तरऻ
कॊय塪� करतॎ ऻॖ।  

Plane mirror / ऺमतल दप塪�ण

Convex mirror / उퟎ�ल दप塪�ण

Concave mirror / अशतल दप塪�ण

Spherical mirror / गख़लॊकॊर दप塪�ण

Correct Answer :­Plane mirror / ऺमतल दप塪�ण 

23)

Question Stimulus :­

Swine flu in pigs is a disease caused by an influenza _______ /  ॐऺअरख़ ॠ मꬅ 𐀆 शॊइन 埧�ॐ बॎमॊरॎ ऻॖ, ोजऺकॊ कॊरण इⰂ埧�ॏएॠ जॊ
__________  ऻॖ।

BaĐteria / बॖ縄 टॎ埉�रयॊ

Virus / शॊयरऺ

FuŶgi / कशक

Protozoa / ꬅख़टख़जख़आ

Correct Answer :­Virus / शॊयरऺ 

24)

Question Stimulus :­

The stainless steel utensils have copper bottom because, / ៭ॕ�नलॕऺ 𐀆 टॎल कॕ बत塪�नख़ ॠ कॊ ोनचलॊ ोऻퟘ�ॊ,  तॊॠबॕ कॊ बनॊयॊ जॊतॊ
ऻ塪� 埀�ख़ॠोक

This makes it cost effective / इऺऺॕ शॕ ोकफॊयतॎ बनतॕ ऻ塪�

Copper is a better conductor of heat /  तॊॠबॊ, ऊ𐀆 मॊ कॊ  ॏऺचॊलक ऻॖ

This gives an aesthetic value / यऻ ऺग़Ⰲ दय塪� मॐ⠅ य दॕतॊ ऻॖ

This makes the utensils more durable / यऻ बत塪�नख़ ॠ कख़ अोधक ोटकॊऊ बनॊतॊ ऻॖ

Correct Answer :­Copper is a better conductor of heat /  तॊॠबॊ, ऊ𐀆 मॊ कॊ  ॏऺचॊलक ऻॖ 

25)

Question Stimulus :­

The fraĐ�oŶ BituŵeŶ oďtaiŶed froŵ petroleuŵ refiŶiŶg is used / पॕट塪� ख़ोलयम प埉�र𐀆 करण ऺॕ ꬅॊ〄 त ोबटॐ मॕन कॕ अॠष कॊ
ꬅयख़ग इऺमꬅ ोकयॊ जॊतॊ ऻॖ ­



In making candles / मख़मब𐀆 तॎ कख़ बनॊनॕ मꬅ

As Aǀia�oŶ fuel / शॖमॊोनक ईॠधन कॕ ꬅप मꬅ

IŶ LuďriĐa�oŶ / 𐀆 नॕऻन मꬅ

IŶ Road surfaĐiŶg / ऺीक कॕ प॑𐀆 ठलॕपन मꬅ

Correct Answer :­IŶ Road surfaĐiŶg / ऺीक कॕ प॑𐀆 ठलॕपन मꬅ 

Topic:­ General Hindi
1)

Question Stimulus :­

CANCELLED

ोन៓� मꬅ ऺॕ षॏ埀� शॊ縄 य कग़न ऺॊ ऻॖ?

भॐकॠ प ऺॕ अनॕकख़ ॠ लख़गख़ ॠ कॎ जॊनꬅ गई।

भॐकॠ प कॕ ꬅकख़प ऺॕ अनॕकख़ ॠ लख़गख़ ॠ कॎ जॊनꬅ गई।

भॐकॠ प ऺॕ ꬅकख़प ऺॕ लख़गख़ ॠ कॎ जॊनꬅ गई।

भॐकॠ प ऺॕ जॊनꬅ गई अनॕकख़ ॠ लख़गख़ ॠ कॎ।

Correct Answer :­भॐकॠ प कॕ ꬅकख़प ऺॕ अनॕकख़ ॠ लख़गख़ ॠ कॎ जॊनꬅ गई। 

2)

Question Stimulus :­

ोनៃ� न षៃ� दख़ ॠ मꬅ ऺॕ त𐀆 पॏꬅह ऺमॊऺ कग़न ऺॊ ऻॖ?

परॎퟀ�ॊभशन

भलॊमॊनॏह

दख़पऻर

नर–नॊरॎ

Correct Answer :­परॎퟀ�ॊभशन 

3)

Question Stimulus :­

‘ोपꬅनॏमोत’ कॊ  ॠऺ ोध ोश埜ॕ�द ऻॖ­

ोपꬅ+अनॏमोत

ोपतर+अनॏमोत

ोपत॑+अनॏमोत

ोपꬅर+अनॏमोत



Correct Answer :­ोपत॑+अनॏमोत 

4)

Question Stimulus :­

ॠऺ𐀆 क॑त भॊहॊ कॕ ऐऺॕ षៃ� द, ोजनकॊ ोऻⰂ दॎ भॊहॊ मꬅ ꬅयख़ग करनॕ पर ꬅप प埉�रशोत塪�त नऻॎ ॠ ऻख़तॊ‚ शॕ 縄 यॊ कऻलॊतॕ ऻ塪�?

ोशदॕषॎ षៃ� द

त𐀆 ऺ म षៃ� द

तदभश षៃ� द

दॕषज षៃ� द

Correct Answer :­त𐀆 ऺ म षៃ� द 

5)

Question Stimulus :­

‘पलॠगीॎ’ मꬅ ꬅ៚�य ऻॖ­

ई

गीॎ

लॠगीॎ

ीॎ

Correct Answer :­ीॎ 

6)

Question Stimulus :­

ॠऺꬅदॊन कॊरक कॊ ोशभ៚�韐� ोच韷� कग़न­ऺॊ ऻॖ ?

कॕ ोलए

कॊ

ऺॕ

मॕ ँ

Correct Answer :­कॕ ोलए 

7)

Question Stimulus :­

ऺॊमॊोऺक पद ”अퟷ�ॊퟛ�ॊयॎ” कॕ ऺऻॎ ोशꬅऻ कख़ चॏनꬅ।

अퟷ� और अퟛ�ॊय

आठ ऻ塪� जख़ अퟛ�ॊय



आठ अퟛ�ॊयख़ ॠ कॊ ऺमॊऻॊर

आठ ऻॖ अퟛ�ॊय

Correct Answer :­आठ अퟛ�ॊयख़ ॠ कॊ ऺमॊऻॊर 

8)

Question Stimulus :­

‘लीॊकॐ ’ मꬅ ꬅ៚�य ­

कॐ

अकॐ

आकॐ

ीॊकॐ

Correct Answer :­आकॐ  

9)

Question Stimulus :­

CANCELLED

ोन៓� मꬅ ऺॕ षॏ埀� शॊ縄 य कग़न ऺॊ ऻॖ?

पऻॊड◌़◌ख़ ॠ मꬅ कई दष塪�नॎय 𐀆 थल दॕखनॕ यख़𐀆 य ऻ塪�।

पऻॊड◌़◌ख़ ॠ मꬅ अनॕक दष塪�नॎय 𐀆 थल दॕखनॕ यख़𐀆 य ऻ塪�।

पऻॊड◌़◌ख़ ॠ मꬅ दॕखनॕ यख़𐀆 य अनॕक दष塪�नॎय 𐀆 थल ऻ塪�।

अनॕक दष塪�नॎय 𐀆 थल दॕखनॕ यख़𐀆 य ऻ塪� पऻॊड◌़◌ख़ ॠ मꬅ।

Correct Answer :­पऻॊड◌़◌ख़ ॠ मꬅ अनॕक दष塪�नॎय 𐀆 थल दॕखनॕ यख़𐀆 य ऻ塪�। 

10)

Question Stimulus :­

ोन៓� मꬅ ऺॕ कग़न ऺॊ 埉�ៅ� ऺमॊऺ कॊ उदॊऻरण ऻॖ ?

कऻॊ  ॏऺनॎ

पॠचꬅमॊण

बॕटॊ­बॕटॎ

चग़रॊऻॊ

Correct Answer :­बॕटॊ­बॕटॎ 

11)

Question Stimulus :­



ोनៃ� न मꬅ ऺॕ षॏ埀� शॊ縄 य कग़न ऺॊ ऻॖ ?

यऻ उऺ भशन ऺॕ लघॏퟎ�म ऻॖ।

उऺ भशन ऺॕ लघॏퟎ�म ऻॖ।

यऻ उऺ भशन ऺॕ लघॏퟎ�र ऻॖ।

यऻ भशन उऺऺॕ लघॏퟎ�र ऻॖ।

Correct Answer :­यऻ भशन उऺऺॕ लघॏퟎ�र ऻॖ। 

12)

Question Stimulus :­

षॊऺन कॎ ओर ऺॕ ोकऺॎ 𐀆 य៚�韐� कख़ यॊ एक ोशभॊग ऺॕ दॐ ऺरॕ ोशभॊग कख़ भॕजॕ गयॕ पꬅ कख़ कऻॊ जॊतॊ ऻॖ

ोनजॎ पꬅ

ऺरकॊरॎ पꬅ

𐀆 यॊशऺॊोयक पꬅ

ꬅॊथ塪�नॊ पꬅ

Correct Answer :­ऺरकॊरॎ पꬅ 

13)

Question Stimulus :­

‘मꬅॊनॠद’ कॊ  ॠऺ ोध ोश埜ॕ�द ऻॖ ­

मॊत॑+आनॠद

मॊतॊ+आनॠद

मॊत॑+नៅ�

मॊꬅ+आनॠद

Correct Answer :­मॊत॑+आनॠद 

14)

Question Stimulus :­

‘दॊॠत कॊटॎ रख़टॎ’ मॏऻॊशरॕ कॊ अथ塪� ऻॖ­

घोन긃 ोमꬅतॊ

अोतऺतक塪� तॊ

ोश韷�ॊऺ करनॕ शॊलॕ ퟟ�៚�韐� कख़ धख़खॊ दॕनॊ

जॐठॊ भख़जन ៚�खलॊनॊ

Correct Answer :­घोन긃 ोमꬅतॊ 



15)

Question Stimulus :­

ोन៓� ोशक�ख़ॠ मꬅ नयन कॎ ठॎक  ॠऺ ोध बतॊइए ­

न + यन

नॕ + यॊन

न + अयन

नॕ + अन

Correct Answer :­नॕ + अन 

16)

Question Stimulus :­

CANCELLED

तॏलऺॎदॊऺ नॕ ‘रॊमच埉�रतमॊनऺ’ ोकऺ भॊहॊ मꬅ ोलखॎ थॎ?

मॖोथलॎ

खड◌़◌ॎ बख़लॎ

अशधॎ‚ ꬅज

ꬅज

Correct Answer :­अशधॎ‚ ꬅज 

17)

Question Stimulus :­

अपनॕ ऺॊधॊरण अथ塪� कख़ छख़ीकर ोशषॕह अथ塪� ꬅकट करनॕ शॊलॕ शॊ縄 यॊॠष कऻलॊतॕ ऻ塪� ­

ऺमॊनॊथꬅ

मॏऻॊशरॕ

अनॕकॊथ塪�क

लख़कख़៚�韐�यॊँ

Correct Answer :­मॏऻॊशरॕ 

18)

Question Stimulus :­

ोनजशॊचक ऺश塪�नॊम कॊ उदॊऻरण ोकऺ ोशक� मॕ ँऻॖ?

कख़ई

कग़न



埉�यँ

ऻमॊरॊ

Correct Answer :­埉�यँ 

19)

Question Stimulus :­

‘मख़ऻन नॕ खॊनॊ नऻॎ ॠ खॊयॊ’ ोकऺ ꬅकॊर कॊ शॊ埀� ऻॖ

ऺॊधॊरण शॊ埀�

इ埜�ॊ शॊचक

ॠऺकॕत शॊचक

ोनहॕध शॊचक

Correct Answer :­ोनहॕध शॊचक 

20)

Question Stimulus :­

कलॏह कॊ ोशलख़म ष埀� ऻॖ _______

पॊपषॏퟸ�

ोनퟪ�ॊप

ोन埉�लॏह

ोन埉�ꬅण

Correct Answer :­ोन埉�लॏह 

21)

Question Stimulus :­

‘मॊतॊ ­ ोपतॊ कॊ आषॎशॊ塪�द लॕतॕ ꬅए जॎशन पथ पर बुतॕ चलꬅ’ रॕखॊॠोकत ष埀� मꬅ कग़न ऺॊ ऺमॊऺ ऻॖ

त埱�ॏꬅह ऺमॊऺ

कम塪�धॊरय ऺमॊऺ

ो埉�गॏ ऺमॊऺ

埉�ॠ埉� ऺमॊऺ

Correct Answer :­埉�ॠ埉� ऺमॊऺ 

22)

Question Stimulus :­

ोन៓�ोल៚�खत मꬅ ऺॕ अषॏ埀� शत塪�नॎ कॊ चयन कॎोजयॕ



埉�यॠभॐ

𐀆ꬅोत

埉�छៅ�

埉�ॊोत

Correct Answer :­𐀆ꬅोत 

23)

Question Stimulus :­

“ोनरॊऻॊर’’ ष埀� कॊ ऺऻॎ  ॠऺोध ोश埜ॕ�द चॏनꬅ।

नॎरॊ + आऻॊर

ोनरॊ + आऻॊर

ोन: + आऻॊर

ोन + आऻॊर

Correct Answer :­ोन: + आऻॊर 

24)

Question Stimulus :­

‘चतॏर’ कॊ पयॊ塪�यशॊचॎ नऻॎ ॠ ऻॖ ­

पटॏ

उ埉�त

ोश៱�

नॊगर

Correct Answer :­उ埉�त 

25)

Question Stimulus :­

ोनៃ� नोल៚�खत मꬅ ऺॕ अ𐀆 ययॎ ऺमॊऺ कग़न ऺॊ ऻॖ?

ꬅोतशह塪�

ोशहधर

रॊजॊ रॊनॎ

नशर𐀆 न

Correct Answer :­ꬅोतशह塪� 

Topic:­ General Mathematics
1)



Question Stimulus :­

The arithmetic mean of a set of 20 values is 76.  If each of the 20 values is divided by 4, then its new mean is / 20 मॊनख़ ॠ
कॕ ऺॕट कॊ ऺमॊॠतर मॊퟛ� 76 ऻॖ। योद 20 मॊनख़ ॠ मꬅ ꬅ៚ॕ�क कख़ 4 ऺॕ ोशभॊोजत ोकयॊ जॊयॕ, तख़ उऺकॊ नयॊ मॊퟛ� ऻॖ

21

33

27

19

Correct Answer :­19 

2)

Question Stimulus :­

An iron pipe 10 cm long has external diameter of 12 cm. If the thickness of the pipe is 2 cm , then the total surface
area(in cm2) of the pipe is  / एक 10 ऺॕमॎ लះॕ� लख़ऻॕ कॕ पॊईप कॊ बॊ� ퟟ�ॊऺ 12 ऺॕमॎ ऻॖ। योद पॊईप कॎ मख़टॊई 2 ऺॕमॎ ऻॖ, तब
पॊईप कॊ कॏ ल प॑긃ॎय ퟀॕ�ꬅूल (शग塪� ऺॕमॎ मꬅ) ऻॖ:

Correct Answer :­  

3)

Question Stimulus :­

A circle is inscribed in a triangle ABC having sides AB = 8 cm, BC = 4 cm, CA = 6 cm, touching the circle at D, E
and F respectively. Find the lengths of DB, CE and AF. / एक श॑ퟎ�, एक ोꬅकख़ण ABC मꬅ अॠोकत ोकयॊ ꬅआ ऻॖ। ोꬅभॏज
कॎ भॏजॊएँ AB = 8 ऺॕमॎ, BC = 4 ऺॕमॎ एशॠ CA = 6 ऺॕमॎ, श॑ퟎ� कख़ ꬅमष: D, E एशॠ F पर ퟑ�ष塪� करतॎ ऻ塪�। DB, CE एशॠ AF
कॎ लॠबॊई ៱�ॊत करꬅ ।

3 cm, 1 cm, 5 cm / 3 ऺॕमॎ, 1 ऺॕमॎ, 5 ऺॕमॎ

2 cm, 1 cm, 6 cm / 2 ऺॕमॎ, 1 ऺॕमॎ, 6 ऺॕमॎ

1 cm, 5 cm, 4 cm / 1 ऺॕमॎ, 5 ऺॕमॎ, 4 ऺॕमॎ

4 cm, 2 cm, 3 cm / 4 ऺॕमॎ, 2 ऺॕमॎ, 3 ऺॕमॎ

Correct Answer :­3 cm, 1 cm, 5 cm / 3 ऺॕमॎ, 1 ऺॕमॎ, 5 ऺॕमॎ 

4)

Question Stimulus :­



1

Correct Answer :­1 

5)

Question Stimulus :­

0.37

0.29

0.47

0.39

Correct Answer :­0.37 

6)

Question Stimulus :­



Correct Answer :­  

7)

Question Stimulus :­

Three numbers a,b and c in order are in A.P and if a = 24 and c = 50 then 2b = / तॎन  ॠऺៀ�ॊएँ a, b एशॠ c, ऺमॊॠतर
आरख़ऻण मꬅ ꬅोमत ऻ塪�। योद a = 24 एशॠ c = 50 तब 2b =

68

74

72

64

Correct Answer :­74 

8)

Question Stimulus :­

If  'x' is the HCF of 117 and 45, And x = 117y + 45(­5), then y = / योद 117 एशॠ 45 कॊ मऻퟎ�म ऺमॊपशत塪�क ‘x’
ऻॖ, और x = 117y + 45(­5) ऻॖ,  तब y =

3

2

4

5

Correct Answer :­2 

9)

Question Stimulus :­

3 : 1



6 : 1

9 : 2

9 : 1

Correct Answer :­9 : 1 

10)

Question Stimulus :­

The mean of 35 observations is 38. If one observation is included the mean still remains 38. Then the  included 
observation is / 35 ꬅॕퟀ�णख़ ॠ कॊ मॊퟛ� 38 ऻॖ। योद एक और ꬅॕퟀ�ण कख़ ऺ៚�韘�ोलत ोकयॊ जॊए तख़ मॊퟛ� 38 ऻॎ रऻतॊ ऻॖ। तब उऺ
ऺ៚�韘�ोलत ꬅॕퟀ�ण ऻॖ:

35

38

36

34

Correct Answer :­38 

11)

Question Stimulus :­

12 cm / 12 ऺॕमॎ.

16 cm / 16 ऺॕमॎ.

14 cm / 14 ऺॕमॎ.

18 cm / 18 ऺॕमॎ.

Correct Answer :­16 cm / 16 ऺॕमॎ. 

12)

Question Stimulus :­



10 packets of sugar, each marked 5 kg actually contained the following weights (in kg): 5.001, 5.050,
4.995, 4.990, 5.010, 4.980, 5.100, 4.975, 5.000, 5.025. If a packet is chosen at random, then the probability
that the chosen packet contains more than 5kg of sugar is / चॎनॎ कॕ 10 पॖकटख़ ॠ, ोजनमꬅ ऺॕ ꬅ៚ॕ�क 5 ोकꬅॊ
ोच៚�韷�त ऻॖ, मꬅ श𐀆 तॏत: ोन៓�ोल៚�खत शजन (ोकꬅॊ) मग़जॐद ऻ塪�: 5.001, 5.050, 4.995, 4.990, 5.010, 4.980, 5.100, 4.975,
5.000, 5.025। योद एक पॖकॕट कख़ यॊ縄៚�埜�क ꬅप ऺॕ चॏनॊ जॊए, तख़ इऺकॎ ꬅॊोयकतॊ 埀�ॊ ऻॖ ोक चॏनॕ ꬅए पॖकॕट कॊ
शजन 5 ोकꬅॊ ऺॕ अोधक ऻॖ:

Correct Answer :­  

13)

Question Stimulus :­

The perimeter of a sector is 25cm and if the length of the arc is 4 more than its radius , then its area(in cm2)is /
योद एक ोꬅퟀ�खॠड कॊ प埉�रमॊप 25 ऺॕमॎ ऻॖ एशॠ योद चॊप कॎ लॠबॊई, ोꬅퟀ�ॊ ऺॕ 4 अोधक ऻॖ, तब इऺकॊ ퟀॕ�ꬅफल (ऺॕमॎ2 मꬅ) ऻॖ:

38.5

36.5

40

42

Correct Answer :­38.5 

14)

Question Stimulus :­



Correct Answer :­  

15)

Question Stimulus :­

Find the linear equation in two variables which form a system of equations with x – 2y = 3 that has infinitely many
solutions. / दख़ चरख़ ॠ कॊ रॕखॎय ऺमॎकरण ोनकॊोलए, जख़ x – 2y = 3 कॕ ऺॊथ ऐऺॕ ऺमॎकरण ोनकॊय कख़ बनॊतॊ ऻॖ ोजऺकॕ
कई ऺॊरॕ ऻल ऻ塪�।

2x – 4y = 9

4x – 8y =12

3x – 4y = 9

3x – 6y = 6

Correct Answer :­4x – 8y =12 

16)

Question Stimulus :­

5

7

4

6

Correct Answer :­6 

17)

Question Stimulus :­

If the supplementary angles are in the ratio 4 : 6, then the larger angle is,

/ योद  ॠऺपॐरक कख़ण 4 : 6 कॕ अनॏपॊत मꬅ ऻ塪�, तख़ बीॊ कख़ण ऻॖ:



Correct Answer :­  

18)

Question Stimulus :­

The distribution of marks obtained by student is110, 130, 150 and 170. The lower limit of the first class interval is /
 ोश埉�ॊथꬅ कॕ 埉�ॊरॊ ꬅॊ〄 त अॠकख़ ॠ कॊ ोशतरण, 110, 130, 150 और 170 ऻॖ। ꬅथम शग塪� अ៙�रॊल कॎ ोन៓�तम ऺॎमॊ ऻॖ ­

95

100

105

110

Correct Answer :­100 

19)

Question Stimulus :­

The radii of two circular cylinders are in the ratio 3 : 5 and if their lateral surface areas are in the ratio 7 : 10, then the
ratio of their respective heights is  / दख़ श॑ퟎ�ॊकॊर बॕलनख़ ॠ कॎ ोꬅퟀ�ॊओॠ कॊ अनॏपॊत 3 : 5 ऻॖ एशॠ योद उनकॕ पॊ𐀆 श塪� प॑긃ॎय ퟀॕ�ꬅूलख़ ॠ
कॊ अनॏपॊत 7 : 10 ऻॖ, तब ꬅमषॡ उनकॎ ऊँचॊईयख़ ॠ कॊ अनॏपॊत ऻॖ:

6 : 5

4 : 7

7 : 6

8 : 3

Correct Answer :­7 : 6 

20)

Question Stimulus :­

7

14



18

21

Correct Answer :­21 

21)

Question Stimulus :­

A hollow cylinder and a hollow cone have the same internal base and the same internal height. If a cone can hold
2litres of milk, how much milk (in litres) can the cylinder hold? / एक खख़खलॕ बॕलन एशॠ एक खख़खलॕ षॠकॏ  कॊ आॠत埉�रक
आधॊर एशॠ आॠत埉�रक ऊँचॊई आपऺ मꬅ ऺमॊन ऻॖ। योद षॠकॏ  मꬅ 2 लॎटर दॐ ध रखॊ जॊ ऺकतॊ ऻॖ, तख़ बॕलन मꬅ ोकतनॊ दॐ ध (लॎटर
मꬅ) रखॊ जॊ ऺकतॊ ऻॖ?

3

6

4

9

Correct Answer :­6 

22)

Question Stimulus :­

If tan(A – 18) = cot3A , where ‘3A’ is an acute angle, then the value of ‘A’ = / योद tan(A – 18) = cot3A , जऻॊँ ‘3A’
एक ퟸ�ॐन कख़ण ऻॖ, तख़ ‘A’ कॊ मॊन =

Correct Answer :­  

23)

Question Stimulus :­

(1 , 1)



(1 , ­ 2)

(1 , ­ 1)

(1 , 2)

Correct Answer :­(1 , 1) 

24)

Question Stimulus :­

The perimeter, of a sector of circle of radius 6cm, is 26cm. The area of the sector in cm2 is / 6 ऺॕमॎ ोꬅퟀ�ॊ कॕ श॑ퟎ�
कॕ ोꬅퟀ�खॠड कॊ प埉�रमॊप, 26 ऺॕमॎ ऻॖ। ोꬅퟀ�खॠड कॊ ऺॕमॎ2 मꬅ ퟀॕ�ꬅफल ऻख़गॊ

38

54

42

36

Correct Answer :­42 

25)

Question Stimulus :­

24

36

27

21

Correct Answer :­36 

Topic:­ General English
1)

Question Stimulus :­

Choose the option that best fills in to complete the given sentence::

 

I’m sorry about this noise you hear. She _____________ for a concert since morning.

practices

has practiced



has been practicing

would practice

Correct Answer :­has been practicing 

2)

Question Stimulus :­

Choose the appropriate option that fills in the given sentence correctly:

 

_________ for the bad weather, our holiday would have been perfect.

but

though

expect

even

Correct Answer :­but 

3)

Question Stimulus :­

Choose the most suitable determiner for the given sentence:

 

_______ university is a place for politics.

No

Some

Few

Much

Correct Answer :­No 

4)

Question Stimulus :­

Choose the appropriate option that fills in the given sentence correctly:

 

No sooner had we started the picnic ________ the rain began pouring down.

than

when

that

and



Correct Answer :­than 

5)

Question Stimulus :­

Choose the option that best transforms the sentence into its other voice:

 

Rural spending is undertaken at various levels in the government.

The government is undertaking rural spending at various levels.

The government undertakes rural spending at various levels.

At various levels rural spending is undertaken by the government.

At various levels rural spending undertakes the government.

Correct Answer :­The government undertakes rural spending at various levels. 

6)

Question Stimulus :­

Choose the option that best transforms the given sentence without changing its meaning:

 

He was so kind that he tried to help everyone in trouble.

He was kind to help enough people in trouble.

Being very kind, he was helped by many people.

He was kind enough to help everyone in trouble.

He was very kind so, he help everyone in trouble.

Correct Answer :­He was kind enough to help everyone in trouble. 

7)

Question Stimulus :­

Choose the option that best transforms the sentence into its Direct / Indirect form:

 

Why should we include this question in the agenda?

Should the question in the agenda be included?

Why should we be including the question in the agenda?

Why they should include the question in the agenda, several members are asking.

Several members asked why they should include the question in the agenda.

Correct Answer :­Several members asked why they should include the question in the agenda. 

8)



Question Stimulus :­

Choose the option that best transforms the given sentence without changing its meaning:

 

The novelty of my new job is beginning to disappear.

The novelty of my new job has disappeared.

The novelty of my new job is beginning to wear in.

The novelty of my new job is beginning to wear out.

The novelty of my new job is beginning to wear away.

Correct Answer :­The novelty of my new job is beginning to wear away. 

9)

Question Stimulus :­

Read the sentence carefully and choose the option that has an error in it:

 

Even though my friend considered a career in economics or business administration, he finally decided on a physic
major.

Even though my friend

considered a career in economics or business administration

he finally decided on

a physic major

Correct Answer :­a physic major 

10)

Question Stimulus :­

Read the sentence carefully and choose the option that has an error in it:

 

Someone who has ever tried to pick up spilled mercury will agree that this element is hard to handle.

Someone who has ever

tried to pick up spilled mercury

will agree that this element

is hard to handle.

Correct Answer :­Someone who has ever 

11)

Question Stimulus :­

Choose the option that best transforms the sentence into its Direct / Indirect form:



 

She said, ‘I am going to go to the store later.’

She said that she would go to the store later.

She said that she will go to the store later.

She said that she was going to go to the store later.

She said that she would be going to the store later.

Correct Answer :­She said that she was going to go to the store later. 

12)

Question Stimulus :­

Choose the option that best punctuates the given sentence:

 

Whenever you see the number 7 on the screen press this button he said

“Whenever you see the number ‘7’ on the screen, press this button,” he said.

“Whenever you see the “number” 7 on the screen, press this button.” he said

 “Whenever you see the number 7 on the screen, press this button” he said.

“Whenever you see the ­­ number 7 ­­ on the screen press this button,” he said.

Correct Answer :­“Whenever you see the number ‘7’ on the screen, press this button,” he said. 

13)

Question Stimulus :­

Choose the option that best punctuates the given sentence:

 

My friend who was not a lover of sunshine envied the Indians living in the rainy part of the Himalayan Mountains

My friend, who was not a lover of sunshine envied the Indian’s living in the rainy part of the Himalayan
Mountains

My friend, who was not a lover of sunshine, envied the Indians’ living in the rainy part of the Himalayan
Mountains!

My friend, who was not a lover of sunshine, envied the Indians living in the rainy part of the Himalayan
Mountains.

My friend ­­ who was not a lover ­­ of sunshine envied the Indians living in the rainy part of the “Himalayan
Mountains”

Correct Answer :­My friend, who was not a lover of sunshine, envied the Indians living in the rainy part of the
Himalayan Mountains. 

14)

Question Stimulus :­



Choose the option that is closest in meaning to the highlighted word in the given sentence:

 

I condoled with her on the death of her father.

regretted

worried

cried

sympathized

Correct Answer :­sympathized 

15)

Question Stimulus :­

Choose the option that best fills in to complete the given sentence:

 

The population of India _______________ at a very fast rate.

has been increased

is increasing

could increases

will have been increasing

Correct Answer :­is increasing 

16)

Question Stimulus :­

Choose the appropriate option that fills in the given sentence correctly:

 

A good way ________ combat the annual floods ________ Bihar is to build houses ________ an elevation.

at, into, on

to, in, at

on, for, through

for, of, for

Correct Answer :­to, in, at 

17)

Question Stimulus :­

Complete the sentence choosing the right form of Prefix:

    



An enemy who is not visible is an ___ visible enemy.

non

in

mal

dis

Correct Answer :­in 

18)

Question Stimulus :­

Choose the option that best fills in to complete the given sentence::

 

She told her child not to play outside, when it _____________.

was raining

had been raining

has rained

had rained

Correct Answer :­was raining 

19)

Question Stimulus :­

Choose the option that best transforms the sentence into its other voice:

 

You must always follow the ISO colour coding system for the collection of waste.

The ISO colour coding system for the collection of waste must always be followed.

The ISO colour coding system for the collection of waste always must be followed.

The ISO colour coding system for the collection of waste has to be followed always.

The ISO colour coding system for the collection of waste always need be followed.

Correct Answer :­The ISO colour coding system for the collection of waste must always be followed. 

20)

Question Stimulus :­

Choose the correct form of verb that is in agreement with the subject:

 

The mother, along with her daughter, _________ tennis on Sundays.



has played

have playing

play

plays

Correct Answer :­plays 

Topic:­ RC_General English
1)

Question Stimulus :­

Read the following passage and answer the question that follow:

 

I might be letting my young son watch too much television. I am certainly watching too many of his
programs. They can really be perplexing as they force you to ponder the mysteries of life. For example,
when Franklin (the turtle) wanted a pet, his parents didn’t want it to be a frog. They felt that frogs belong
in a pond. Isn't that where turtles belong? And why is it that Little Bear’s animal friends can all talk and
behave like people, but his friend Emily has a dog that can only bark and fetch? Tell me that isn’t a
mystery!

 

 Dog lovers can be reassured by Kipper and his friends. These dogs are very human. However, the only
time they wear clothes is when they put on bathing suits to go swimming. I’m confused! Speaking of dogs,
could Pluto ever be Goofy’s pet? I don’t get it! What did the great Mr. Disney have in mind?

 

 And this is gross! The other day we watched a very nice little pig setting up a picnic. One of the foods was
a big ham. Could it have been a soy ham? Is there such a thing? I hope so! Another thing that bothers me:
What if Elmo isn’t real? He can’t be a mere puppet! He’s got a better attitude than most people. I just
keep wondering.

 I think we’ll turn off the TV and go out for a walk. Maybe we’ll run into that mouse who dresses well but
certainly doesn’t speak as clearly as the average bear.

 

Which word is a synonym of “ponder”?

avoid

remember

consider

distant

Correct Answer :­consider 

2)

Question Stimulus :­

Read the following passage and answer the question that follow:



 

I might be letting my young son watch too much television. I am certainly watching too many of his
programs. They can really be perplexing as they force you to ponder the mysteries of life. For example,
when Franklin (the turtle) wanted a pet, his parents didn’t want it to be a frog. They felt that frogs belong
in a pond. Isn't that where turtles belong? And why is it that Little Bear’s animal friends can all talk and
behave like people, but his friend Emily has a dog that can only bark and fetch? Tell me that isn’t a
mystery!

 

 Dog lovers can be reassured by Kipper and his friends. These dogs are very human. However, the only
time they wear clothes is when they put on bathing suits to go swimming. I’m confused! Speaking of dogs,
could Pluto ever be Goofy’s pet? I don’t get it! What did the great Mr. Disney have in mind?

 

 And this is gross! The other day we watched a very nice little pig setting up a picnic. One of the foods was
a big ham. Could it have been a soy ham? Is there such a thing? I hope so! Another thing that bothers me:
What if Elmo isn’t real? He can’t be a mere puppet! He’s got a better attitude than most people. I just
keep wondering.

 I think we’ll turn off the TV and go out for a walk. Maybe we’ll run into that mouse who dresses well but
certainly doesn’t speak as clearly as the average bear.

 

The author is implying that:

there’s a TV mouse that should speak more clearly

TV mice should not wear good clothes

bears can really speak more clearly than mice

watching television is not better than playing outdoors

Correct Answer :­watching television is not better than playing outdoors 

3)

Question Stimulus :­

Read the following passage and answer the question that follow:

 

I might be letting my young son watch too much television. I am certainly watching too many of his
programs. They can really be perplexing as they force you to ponder the mysteries of life. For example,
when Franklin (the turtle) wanted a pet, his parents didn’t want it to be a frog. They felt that frogs belong
in a pond. Isn't that where turtles belong? And why is it that Little Bear’s animal friends can all talk and
behave like people, but his friend Emily has a dog that can only bark and fetch? Tell me that isn’t a
mystery!

 

 Dog lovers can be reassured by Kipper and his friends. These dogs are very human. However, the only
time they wear clothes is when they put on bathing suits to go swimming. I’m confused! Speaking of dogs,
could Pluto ever be Goofy’s pet? I don’t get it! What did the great Mr. Disney have in mind?

 



 And this is gross! The other day we watched a very nice little pig setting up a picnic. One of the foods was
a big ham. Could it have been a soy ham? Is there such a thing? I hope so! Another thing that bothers me:
What if Elmo isn’t real? He can’t be a mere puppet! He’s got a better attitude than most people. I just
keep wondering.

 I think we’ll turn off the TV and go out for a walk. Maybe we’ll run into that mouse who dresses well but
certainly doesn’t speak as clearly as the average bear.

 

The author thinks it’s “gross” when:

a pig has a picnic because pigs are dirty animals

a pig eats soy beans because soy beans give pigs gas

a pig eats ham because ham is too expensive for farm animals

a pig eats ham because ham is made from pigs

Correct Answer :­a pig eats ham because ham is made from pigs 

4)

Question Stimulus :­

Read the following passage and answer the question that follow:

 

I might be letting my young son watch too much television. I am certainly watching too many of his
programs. They can really be perplexing as they force you to ponder the mysteries of life. For example,
when Franklin (the turtle) wanted a pet, his parents didn’t want it to be a frog. They felt that frogs belong
in a pond. Isn't that where turtles belong? And why is it that Little Bear’s animal friends can all talk and
behave like people, but his friend Emily has a dog that can only bark and fetch? Tell me that isn’t a
mystery!

 

 Dog lovers can be reassured by Kipper and his friends. These dogs are very human. However, the only
time they wear clothes is when they put on bathing suits to go swimming. I’m confused! Speaking of dogs,
could Pluto ever be Goofy’s pet? I don’t get it! What did the great Mr. Disney have in mind?

 

 And this is gross! The other day we watched a very nice little pig setting up a picnic. One of the foods was
a big ham. Could it have been a soy ham? Is there such a thing? I hope so! Another thing that bothers me:
What if Elmo isn’t real? He can’t be a mere puppet! He’s got a better attitude than most people. I just
keep wondering.

 I think we’ll turn off the TV and go out for a walk. Maybe we’ll run into that mouse who dresses well but
certainly doesn’t speak as clearly as the average bear.

 

The author probably:

believes that Elmo is a real live creature

wishes that Elmo were a real live creature

feels that Elmo is a very annoying creature



won’t let his son watch Sesame Street

Correct Answer :­believes that Elmo is a real live creature 

5)

Question Stimulus :­

Read the following passage and answer the question that follow:

 

I might be letting my young son watch too much television. I am certainly watching too many of his
programs. They can really be perplexing as they force you to ponder the mysteries of life. For example,
when Franklin (the turtle) wanted a pet, his parents didn’t want it to be a frog. They felt that frogs belong
in a pond. Isn't that where turtles belong? And why is it that Little Bear’s animal friends can all talk and
behave like people, but his friend Emily has a dog that can only bark and fetch? Tell me that isn’t a
mystery!

 

 Dog lovers can be reassured by Kipper and his friends. These dogs are very human. However, the only
time they wear clothes is when they put on bathing suits to go swimming. I’m confused! Speaking of dogs,
could Pluto ever be Goofy’s pet? I don’t get it! What did the great Mr. Disney have in mind?

 

 And this is gross! The other day we watched a very nice little pig setting up a picnic. One of the foods was
a big ham. Could it have been a soy ham? Is there such a thing? I hope so! Another thing that bothers me:
What if Elmo isn’t real? He can’t be a mere puppet! He’s got a better attitude than most people. I just
keep wondering.

 I think we’ll turn off the TV and go out for a walk. Maybe we’ll run into that mouse who dresses well but
certainly doesn’t speak as clearly as the average bear.

 

Which word has the same meaning as “perplexing”?

boring

confusing

humorous

itchy

Correct Answer :­confusing 

Topic:­ General Knowledge
1)

Question Stimulus :­

Mr. G. C. Gupta was elected as Chief Justice of which High Court? / 픅ॎ जॎ.ऺॎ. गॏ〄 तॊ कख़ ोकऺ उ𐀆 च Ⰲ यॊयॊलय कॊ
मॏ𐀆 य Ⰲ यॊयॊधॎष चॏनॊ गयॊ ऻॖ?

Hyderabad / ऻॖदरॊबॊद

Calcutta / कलक𐀆 तॊ (कख़लकॊतॊ)



Ahmadabad / अ ऻमदॊबॊद

New Delhi / नई ोद⠅ लॎ

Correct Answer :­Calcutta / कलक𐀆 तॊ (कख़लकॊतॊ) 

2)

Question Stimulus :­

Which one of the following refers to the first nuclear reactor of India? / ोन៓�ोल៚�खत मꬅ ऺॕ कग़न ऺॊ भॊरत कॊ पऻलॊ
परमॊणॏ 埉�रए韀�र कॕ ोलए  ॠऺदोभ塪�त करतॊ ऻॖ?

Rohini / रख़ोऻणॎ

Urvashi / उश塪�षॎ

Apsara / अៀ�रॊ

Kamini / कॊोमनॎ

Correct Answer :­Apsara / अៀ�रॊ 

3)

Question Stimulus :­

2016 Rio Olympic bronze medal winner Sakshi Malik has been selected as the brand ambassador for which of the
following states? / 2016 कॕ 埉�रयख़ ओल៚�ퟨ�क मꬅ कॊॠ𐀆 य पदक ोशजॕतॊ ऺॊퟀ�ॎ मोलक कख़ ोकऺ रॊ𐀆 य कॊ ꬅॊॠड एॠ बॕऺडर चॏनॊ
गयॊ ऻॖ?

Haryana / ऻ埉�रयॊणॊ

Madhya Pradesh / मⰂ य ꬅदॕष

Himachal Pradesh / ोऻमॊचल ꬅदॕष

Rajasthan / रॊज𐀆 थॊन

Correct Answer :­Haryana / ऻ埉�रयॊणॊ 

4)

Question Stimulus :­

_______, nicknamed Tiger Pataudi, was a former captain of the Indian cricket team and was the titular Nawab of
Pataudi from 1952 until 1971. / _______, उपनॊम टॊइगर पटग़दॎ भॊरतॎय ोꬅकॕट टॎम कॕ पॐश塪� कퟷ�ॊन थॕ एशॠ 1952 ऺॕ 1971
तक पटग़दॎ कॕ नॊममॊꬅ कॕ नशॊब थॕ।

Mansoor Ali Khan / मॠ ॐऺर अलॎ खॊन

Zaheer Khan / िऻॎर खॊन

Irfan Khan  / इरूॊन खॊन

Yusuf Pathan / यॏ ॐऺफ पठॊन

Correct Answer :­Mansoor Ali Khan / मॠ ॐऺर अलॎ खॊन 



5)

Question Stimulus :­

__________ holds the most North­eastern position among the states in Northeast region of India.  / भॊरत कॕ उퟎ�र पॐशꬅ
ퟀॕ�ꬅख़ ॠ मꬅ ऺॕ, _________ ऺबऺॕ उퟎ�र­पॐश塪� मꬅ ៚�𐀆थत ऻॖ। 

 Assam / अऺम

Sikkim / ोऺ៚�⬈म

Arunachal Pradesh / अꬅणॊचल ꬅदॕष  

Nagaland / नॊगॊल塪�ड

Correct Answer :­Arunachal Pradesh / अꬅणॊचल ꬅदॕष   

6)

Question Stimulus :­

India started a joint military exercise SAMPRITI 2016 with which of the following countries? / भॊरत नॕ ऺៃ� प॑ोत 2016
नॊमक  ॠऺयॏ縄 त ऺॖⰂ य अ嘄 यॊऺ ोकऺ दॕष कॕ ऺॊथ षॏꬅ ोकयॊ ऻॖ?

Russia / ꬅऺ

Malaysia / मलॕोषयॊ

Thailand / थॊईल塪�ड

Bangladesh / बॊॠ𐀆 लॊदॕष

Correct Answer :­Bangladesh / बॊॠ𐀆 लॊदॕष 

7)

Question Stimulus :­

‘National Doctor’s Day’ is observed on the birthday of ____./ ‘रॊퟷ�塪� ॎय ोचोक韯�क ोदशऺ' ____कॕ जन् मोदशऺ पर मनॊयॊ
जॊतॊ ऻॖ।

Dr. Harsh Vardhan/ डॗ. ऻह塪�शध塪�न

Dr. Devi Shetty/ डॗ. दॕशॎ षॕꨂॎ

Bidhan Chandra Roy/ ोबधॊन चॠꬅ रॊय

Debendra Pradhan/ दॕबॕ脅 ꬅधॊन

Correct Answer :­Bidhan Chandra Roy/ ोबधॊन चॠꬅ रॊय 

8)

Question Stimulus :­

Both Indian Institute of Technology and Indian Institute of Management are present in _____________ in Madhya
Pradesh. / भॊरतॎय ꬅग़埉�ख़ोगकॎ  ॠऺ𐀆थॊन एशॠ भॊरतॎय ꬅबॠधन  ॠऺ𐀆थॊन, दख़नख़ ॠ मퟛ� ꬅदॕष कॕ _____________ मꬅ ៚�𐀆थत ऻ塪�।

Indore / इॠदग़र



Bhopal / भख़पॊल

Jabalpur / जबलपॏर

Sanchi / ऺॊॠचॎ

Correct Answer :­Indore / इॠदग़र 

9)

Question Stimulus :­

Maximum number of fairs in Madhya Pradesh is held in _________ district. / मퟛ�ꬅदॕष मꬅ ऺबऺॕ अोधक मॕलॕ,
__________ ोजलॕ मꬅ आयख़ोजत ऻख़तॕ ऻ塪�।

Sagar / ऺॊगर

Ujjain / उퟱॖ�न

Panna / प埳�ॊ

Bhind / ोभॠड

Correct Answer :­Ujjain / उퟱॖ�न 

10)

Question Stimulus :­

Actor John Abraham has become the brand ambassador for which of the following states? / ोफ⠅ म अोभनॕतॊ जॗन
अꬅॊऻम कख़ ोनៃ� न मꬅ ऺॕ ोकऺ रॊ𐀆 य कॊ ꬅॊॠड एॠ बॕऺडर बनॊयॊ गयॊ ऻॖ?

Madhya Pradesh / मⰂ य ꬅदॕष

Arunachal Pradesh / अꬅणॊचल ꬅदॕष

Himachal Pradesh / ोऻमॊचल ꬅदॕष

Maharashtra / मऻॊरॊ𐀆 ट塪�

Correct Answer :­Arunachal Pradesh / अꬅणॊचल ꬅदॕष 

11)

Question Stimulus :­

Cricketer Virat Kohli has become the brand ambassador for which of the following banks? / ोꬅकॕट ៚�खलॊीॎ ोशरॊट
कख़ऻलॎ कख़ ोकऺ ब塪�क कॊ ꬅॊॠड  एៃ� बॕऺडर बनॊयॊ गयॊ ऻॖ?  

Karnataka Bank / कनॊ塪�टकॊ ब塪�क

Punjab National Bank / पॠजॊब नॕषनल ब塪�क

Bank of Maharashtra / ब塪�क ऑफ मऻॊरॊ𐀆 ट塪�

Axis Bank / ए៚�埣�ऺ ब塪�क

Correct Answer :­Punjab National Bank / पॠजॊब नॕषनल ब塪�क 



12)

Question Stimulus :­

National Sports Day in India marks the birthday of ________. / भॊरत मꬅ रॊퟷ�塪� ॎय खॕल ोदशऺ, ________ कॕ ज៎�ोदन पर
मनॊयॊ जॊतॊ ऻॖ।

Roop Singh / ꬅप ो ॠऺऻ

Dhyan Chand / ퟛ�ॊन चॠद

Sunil Gavaskar /  ॏऺनॎल गॊशퟍ�र

Kapil Dev / कोपल दॕश

Correct Answer :­Dhyan Chand / ퟛ�ॊन चॠद 

13)

Question Stimulus :­

Which instrument is used to measure motor vehicle speed? / ोकऺ यॠꬅ कॊ ꬅयख़ग मख़टर शॊऻन कॎ गोत कख़ मॊपनॕ कॕ
ोलए ोकयॊ जॊतॊ ऻॖ?

Tachometer / टॕकख़मॎटर

Ammeter / आमॎटर

Speedometer / ퟑ�ॎडख़मॎटर

None of these / उपरख़韐� मꬅ कख़ई नऻॎ ॠ

Correct Answer :­Speedometer / ퟑ�ॎडख़मॎटर 

14)

Question Stimulus :­

______ is the longest state highway of Madhya Pradesh. / मퟛ�ꬅदॕष कॊ ऺबऺॕ लॠबॊ रॊퟀ� रॊजमॊग塪� ______ ऻॖ।

SH 19

SH 22

SH 26

SH 10

Correct Answer :­SH 19 

15)

Question Stimulus :­

In the 31st Constitutional Amendment Act of 1973, Lok Sabha seats were increased from______to______? / 1973 कॕ
31शꬅ  ॠऺ ोशधॊन  ॠऺषख़धन अोधोनयम मꬅ, लख़कऺभॊ ऺॎटख़ ॠ मꬅ ______ ऺॕ ______ कॎ बुत ꬅई थॎ?

505 to 525 / 505 ऺॕ 525

515 to 545 / 515 ऺॕ 545



525 to 545 / 525 ऺॕ 545

535 to 545 / 535 ऺॕ 545

Correct Answer :­525 to 545 / 525 ऺॕ 545 

16)

Question Stimulus :­

When did the Russian revolution take place? / ꬅऺॎ ꬅॊ៚�៙� कब ꬅई थॊ?

1913

1915

1917

1919

Correct Answer :­1917 

17)

Question Stimulus :­

_________ was the capital of Vijayanagar empire. / ोशजयनगर ऺॊꬅॊퟀ� कॎ रॊजधॊनॎ _________ थॎ।

Madurai / मदॏरई

Hampi / ऻퟨ�ॎ

Amaravathi / अमरॊशतॎ

Gadhiur / गोधउर

Correct Answer :­Hampi / ऻퟨ�ॎ 

18)

Question Stimulus :­

________ is the first of the four dams built on Chambal river. / ________ चॠबल नदॎ पर बनॊयॕ गए चॊर बॊॠधख़ ॠ मꬅ बनॊयॊ
गयॊ पऻलॊ बॊॠध ऻॖ।

Gandhi sagar dam / गॊॠधॎ ऺॊगर बॊॠध

Rana Pratap sagar dam / रॊणॊ ꬅतॊप ऺॊगर बॊॠध

Sardar Sarovar dam / ऺरदॊर ऺरख़शर बॊॠध

Indirasagar dam / इॠोदरॊ ऺॊगर बॊॠध

Correct Answer :­Gandhi sagar dam / गॊॠधॎ ऺॊगर बॊॠध 

19)

Question Stimulus :­



The Tulsi Award is an award presented by government of Madhya Pradesh for outstanding achievement in the
field of _______. / तॏलऺॎ पॏरퟍ�ॊर, _______ कॕ ퟀॕ�ꬅ मꬅ उ៕॑�ퟷ� उपल៚�埧� कॕ ोलए मퟛ�ꬅदॕष ऺरकॊर 埉�ॊरॊ ोदयॊ जॊनॕ शॊलॊ
एक पॏरퟍ�ॊर ऻॖ।

Art / कलॊ

Poetry / कोशतॊ

Literature / ऺॊोऻ៚�

Sports / खॕल

Correct Answer :­Art / कलॊ 

20)

Question Stimulus :­

__________ is known as the Shimla of Madhya Pradesh. / _______ कख़ मퟛ�ꬅदॕष कॕ ोषमलॊ कॕ ꬅप मꬅ जॊनॊ जॊतॊ ऻॖ।

Shivpuri / ोषशपॏरॎ

Gwalior / 埕�ॊोलयर

Indore / इॠदग़र

Jabalpur / जबलपॏर

Correct Answer :­Shivpuri / ोषशपॏरॎ 

21)

Question Stimulus :­

_______ is the first Indian female gymnast to ever compete in the Olympics. / __________ ओल៚�ퟨ�क मꬅ भॊग लॕनॕ
शॊलॎ ꬅथम भॊरतॎय मोऻलॊ ोजमनॊ៭� ऻ塪�।

Meenakshi / ोमनॊퟀ�ॎ

Dipa Karmakar / दॎपॊ कमॊ塪�कर

Payal Bhattacharjee / पॊयल भꨂॊचॊय塪�

Pranati Das / ꬅणोत दॊऺ

Correct Answer :­Dipa Karmakar / दॎपॊ कमॊ塪�कर 

22)

Question Stimulus :­

Rabindranath Tagore has also composed national anthem of _______. / रशॎ脅नॊथ टॖगख़र नॕ _______ कॕ रॊퟷ�塪� ॎय गॊन कॎ
भॎ रचनॊ कॎ ऻॖ।

Pakistan / पॊोकំ�ॊन

Burma / बमॊ塪�

Bhutan / भॐटॊन



Bangladesh / बॊॠퟜ�ॊदॕष

Correct Answer :­Bangladesh / बॊॠퟜ�ॊदॕष 

23)

Question Stimulus :­

The oldest Urdu newspaper of Madhya Pradesh is _______. / मퟛ�ꬅदॕष कॊ ऺबऺॕ पॏरॊनॊ उदॐ 塪� अखबॊर _______ ऻॖ।

Urdu Action / उदॐ 塪� ए៵�न

Nadeem / नदॎम

Haq­o­Insaf / ऻक­ओ­इॠऺॊफ

Farz / फि塪�

Correct Answer :­Nadeem / नदॎम 

24)

Question Stimulus :­

'Jai Jawan Jai Kisan' was a slogan given by _____________. / ‘’जय जशॊन जय ोकऺॊन’’ कॊ नॊरॊ _____________ 埉�ॊरॊ
ोदयॊ गयॊ थॊ।

Lal Bahadur Shastri / लॊल बऻॊदॏर षॊ៩�ॎ

Jawaharlal Nehru / जशॊऻर लॊल नॕऻꬅ

Gulzarilal Nanda / गॏलजॊरॎलॊल नॠदॊ

Morarji Desai / मख़रॊरजॎ दॕऺॊई

Correct Answer :­Lal Bahadur Shastri / लॊल बऻॊदॏर षॊ៩�ॎ 

25)

Question Stimulus :­

__________ is the only Sikh majority state in India with Sikhs being about 58% of the population. / भॊरत मꬅ ोऺखख़ ॠ कॎ
बꬅ ॠऺៀ�क आबॊदॎ शॊलॊ एकमॊꬅ रॊퟀ� __________ ऻॖ, जऻॊँ जन ॠऺៀ�ॊ कॊ 58% लगभग ोऺख ऻॖ।  

Jammu & Kashmir / ज韘�ॐ एशॠ क퟼�ॎर

Himachal Pradesh / ोऻमॊचल रॊퟀ�

Haryana / ऻ埉�रयॊणॊ

Punjab / पॠजॊब

Correct Answer :­Punjab / पॠजॊब 

Topic:­ General Computer Knowledge
1)

Question Stimulus :­

MIME stands for / MIME ोकऺकॕ ोलए ꬅयॏ縄 त ऻख़तॊ ऻॖ?



MIME stands for / MIME ोकऺकॕ ोलए ꬅयॏ縄 त ऻख़तॊ ऻॖ?

Multipurpose Internet Mail Extensions / म⠅ टॎपरपि इॠटरनॕट मॕल ए縄 ऺ टꬅषॠऺ

Multipurpose Internet Mail Email / म⠅ टॎपरपि इॠटरनॕट मॕल ईमॕल

Multipurpose Internet Mail End / म⠅ टॎपरपि इॠटरनॕट मॕल एॠ ड

Multipurpose Internet Mail Extra / म⠅ टॎपरपि इॠटरनॕट मॕल ए縄 𐀆 ट塪� ॊ

Correct Answer :­Multipurpose Internet Mail Extensions / म⠅ टॎपरपि इॠटरनॕट मॕल ए縄 ऺ टꬅषॠऺ  

2)

Question Stimulus :­

Which of the following is correct commenting form in HTML? / ोनៃ� न मꬅ ऺॕ 縄 यॊ HTML मꬅ ऺऻॎ
कमॕ៚�ퟁ�ॠग फॗम塪� ऻॖ?

Correct Answer :­  

3)

Question Stimulus :­

What feature enables drawing decorative text with graphical effects such as skewing, shadowing,
rotating, stretching in a variety of shapes and colors with three­dimensional effect in a MS – Word
document (Ver. 2007 onwards) / MS Word document (2007 तथॊ आगॕ शॊलॕ शि塪�न) मꬅ कग़न ऺॎ ोशषॕहतॊ
ꬅॊोफकल इफॕ縄 ट्ऺ जॖऺॕ ोक 𐀆 कॕोशॠग, षॖडख़इॠग, रख़टॖोटॠग, 𐀆 ट塪� ॕ ोचॠग ꬅॎ डॊइमꬅषनल इफॕ縄 ट शॊलॎ ोशोशध आक॑ोतयख़ ॠ
तथॊ रॠगख़ ॠ ऺॕ यॏ縄 त ड塪� ॗइॠग डॕकख़रॕोटश टॕ縄 𐀆 ट बनॊनॕ मꬅ ऺऻॊयक ऻॖ?

Smart Art / 𐀆 मॊट塪� आट塪�

Clip Art / ៚�프प आट塪�

Word Art / शड塪�  आट塪�

Font effects / फॗⰂ ट इफॕ縄 ट्ऺ

Correct Answer :­Word Art / शड塪�  आट塪� 

4)

Question Stimulus :­

IŶ EǆĐel, Hoǁ do Ǉou delete a ĐoluŵŶ? / EǆĐel मꬅ आप कॗलम कॖऺॕ ोडोलट करतॕ ऻ塪�?

Select the column heading you want to delete and select the Delete Row button
on the standard toolbar / आप ोजऺ कॗलम ऻॕोडॠग कख़ ोडोलट करनॊ चॊऻतॕ ऻ塪� उऺॕ ऺॕलॕ縄 ट करकॕ 𐀆 ट塪�डड塪�



टॐ लबॊर पर Delete Row बटन कख़ ऺॕलॕ縄 ट करꬅ

Select the column heading you want to delete and select Insert Delete from
the menu / आप ोजऺ कॗलम ऻॕोडॠग कख़ ोडोलट करनॊ चॊऻतॕ ऻ塪� उऺॕ ऺॕलॕ縄 ट करकॕ मॕनॐ ऺॕ Insert
Delete कख़ ऺॕलॕ縄 ट करꬅ  

Select the row heading you want to delete and select Edit>Delete from the
menu/ आप ोजऺ रख़ ऻॕोडॠग (row heading) कख़ ोडोलट करनॊ चॊऻतॕ ऻ塪� उऺॕ ऺॕलॕ縄 ट करकॕ मॕनॐ ऺॕ
Edit>Delete कख़ ऺॕलॕ縄 ट करꬅ

Right click the column heading you want to delete and select delete from the shortcut menu / आप
ोजऺ कॗलम ऻॕोडॠग कख़ ोडोलट करनॊ चॊऻतॕ ऻ塪� उऺ पर रॊइट ៚�프क करकॕ षॗट塪�कट मॕनॐ ऺॕ delete ऺॕलॕ縄 ट
करꬅ  

Correct Answer :­Right click the column heading you want to delete and select delete from the shortcut
menu / आप ोजऺ कॗलम ऻॕोडॠग कख़ ोडोलट करनॊ चॊऻतॕ ऻ塪� उऺ पर रॊइट ៚�프क करकॕ षॗट塪�कट मॕनॐ ऺॕ delete
ऺॕलॕ縄 ट करꬅ   

5)

Question Stimulus :­

 

ϭ aŶd ϯ / 1 ओर 3

Ϯ aŶd ϰ / 2 और 4

ϯ aŶd ϰ / 3 और 4

ϭ aŶd Ϯ / 1 और 2

Correct Answer :­ϭ aŶd ϯ / 1 ओर 3 

6)

Question Stimulus :­

WhiĐh of the folloǁiŶg is Ŷot esseŶ�al ĐoŵpoŶeŶt to perforŵ a ŵail ŵerge opera�oŶ? / मॕल मज塪� ऑपरॕषन
करनॕ कॕ ोलए ोनៃ� न मꬅ ऺॕ कग़न ऺॊ कៃ� पख़नꬅट आश𐀆 यक नऻॎ ॠ ऻॖ?

MaiŶ doĐuŵeŶt / मॕन ड縄 यॐमꬅट

Data sourĐe / डॕटॊ ऺख़ 塪ऺ�

Merge fields / मज塪� फॎ⠅ ड्ऺ



Merge fields / मज塪� फॎ⠅ ड्ऺ

Word fields / शड塪� फॎ⠅ ड्ऺ

Correct Answer :­Word fields / शड塪� फॎ⠅ ड्ऺ 

7)

Question Stimulus :­

ϭ aŶd Ϯ / 1 और 2

ϭ, ϯ aŶd ϰ / 1, 3 और 4

Ϯ oŶlǇ / कॕशल 2

ϯ oŶlǇ / कॕशल 3

Correct Answer :­ϭ, ϯ aŶd ϰ / 1, 3 और 4 

8)

Question Stimulus :­

In MS PowerPoint 2007, how do you add a Header/Footer in handout? / MS PowerPoint 2007 मꬅ, आप
ऻ塪�डआउट मꬅ ऻॕडर/फॐ टर कॖऺॕ एड करꬅ गॕ?

Correct Answer :­  

9)

Question Stimulus :­



How can you print three copies of a document? / आप डॗ埀�ॐमꬅट कॎ तॎन ꬅोतयॊॠ कॖऺॕ ोꬅॠट कर ऺकतॕ ऻ塪�?

SeleĐt File>Proper�es forŵ the ŵeŶu aŶd tǇpe ϯ iŶ the Copies to priŶt teǆt ďoǆ / मॕनॐ ऺॕ File>Proper�es ऺॕलॕ縄 ट
करꬅ  और ोꬅॠट टॕ縄 𐀆 ट बॗ縄 ऺ  कॕ कॗपॎि मꬅ 3 टॊइप करꬅ

SeleĐt File >PriŶt froŵ the ŵeŶu aŶd tǇpe ϯ iŶ the Nuŵďer of Đopies teǆt ďoǆ. / मॕनॐ ऺॕ File >PriŶt ऺॕलॕ縄 ट करꬅ  और
कॗपॎि टॕ縄 𐀆 ट बॗ縄 ऺ  कॕ नॠबर मꬅ 3 टॊइप करꬅ

Press Ctrl+P+ϯ / Ctrl+P+ϯ दबॊएॠ

All of the above / उपरख़韐� ऺभॎ

Correct Answer :­SeleĐt File >PriŶt froŵ the ŵeŶu aŶd tǇpe ϯ iŶ the Nuŵďer of Đopies teǆt ďoǆ. / मॕनॐ ऺॕ File >PriŶt
ऺॕलॕ縄 ट करꬅ  और कॗपॎि टॕ縄 𐀆 ट बॗ縄 ऺ  कॕ नॠबर मꬅ 3 टॊइप करꬅ  

10)

Question Stimulus :­

If you need to duplicate the entire disk, which command will you use? / योद आप पॐरॎ ोड𐀆 क
कख़ डॏ〄 लॎकॕट करनॊ चॊऻतॕ ऻ塪�, तख़ आप ोकऺ कमॊॠड कॊ उपयख़ग करꬅ गॕ?

Copy / कॗपॎ

Diskcopy / ोड𐀆 ककॗपॎ

Chkdsk / Chkdsk

Format / फॗमꬅट

Correct Answer :­Diskcopy / ोड𐀆 ककॗपॎ 

11)

Question Stimulus :­

In HTML an iframe is used to __________. / HTML मꬅ ifraŵe कॊ उपयख़ग ऻख़तॊ ऻॖ ­

Display a link within a link / एक ोलॠक कॕ भॎतर एक ोलॠक ोड𐀆 〄 लॕ करनॕ कॕ ोलए

Display a table within a table / एक टॕबल कॕ भॎतर एक टॕबल ोड𐀆 〄 लॕ करनॕ कॕ ोलए

Display a picture within a picture / एक ोप縄 चर कॕ भॎतर एक ोप縄 चर ोड𐀆 〄 लॕ करनॕ कॕ ोलए

Display a web page within a web page / एक शॕब पॕज कॕ भॎतर एक शॕब पॕज ोड𐀆 〄 लॕ करनॕ कॕ ोलए

Correct Answer :­Display a web page within a web page / एक शॕब पॕज कॕ भॎतर एक शॕब पॕज ोड𐀆 〄 लॕ
करनॕ कॕ ोलए 

12)

Question Stimulus :­

What hardware architectures are not supported by Red Hat? / रॕड ऻॖट 埉�ॊरॊ ोकऺ ऻॊड塪�शॕयर
आोक塪� टॕ縄 चर कख़ ऺपख़ट塪�  नऻॎ ॠ ोकयॊ जॊतॊ ऻॖ?

SPARC / 𐀆 पॊक塪�

IBM­Compatible / IBM­कៃ� पॖोटबल



Alpha / अ⠅ फॊ

Macintosh / मॖोकॠ टख़ष

Correct Answer :­Macintosh / मॖोकॠ टख़ष 

13)

Question Stimulus :­

What is Cell Padding in HTML? / HTML मꬅ ऺॕल पॖोडॠग 縄 यॊ ऻख़तॊ ऻॖ?

It specifies the space between the cell content and its borders. / यऻ ऺॕल कॠ टꬅट तथॊ अपनॕ
बॗड塪� 塪ऺ� कॕ मⰂ य 𐀆 थॊन कख़ ोनोद塪�𐀆 ट करतॊ ऻॖ

It specifies the space between the cell content and its headings. / यऻ ऺॕल कॠ टꬅट तथॊ
अपनॕ ऻॕोडॠ𐀆 ऺ  कॕ मⰂ य 𐀆 थॊन कख़ ोनोद塪�𐀆 ट करतॊ ऻॖ

It specifies the space between the cell content and its formatting. / यऻ ऺॕल कॠ टꬅट तथॊ
अपनॎ फॗमꬅोटॠग कॕ मퟛ� 𐀆 थॊन कख़ ोनोद塪�𐀆 ट करतॊ ऻॖ

It specifies the space between the cell content and its descriptions. / यऻ ऺॕल कॠ टꬅट तथॊ
अपनॕ ोशशरण कॕ मⰂ य 𐀆 थॊन कख़ ोनोद塪�𐀆 ट करतॊ ऻॖ

Correct Answer :­It specifies the space between the cell content and its borders. / यऻ ऺॕल
कॠ टꬅट तथॊ अपनॕ बॗड塪� 塪ऺ� कॕ मⰂ य 𐀆 थॊन कख़ ोनोद塪�𐀆 ट करतॊ ऻॖ 

14)

Question Stimulus :­

In MS Word (ver. 2007 onwards) a _________________ lists the references or
authorities in a legal document, along with the numbers of the pages the references
appear on, based on citations. / MS Word (शि塪�न 2007 तथॊ इऺऺॕ आगॕ शॊलॕ) मꬅ, __________ लॎगल ड縄 यॐमꬅट
मꬅ रॕफरꬅ ऺॕि यॊ अथॗ埉�रटॎि कॕ ऺॊथ­ऺॊथ अशतरणख़ ॠ पर आधॊ埉�रत उन पॕजख़ ॠ कॎ  ॠऺ𐀆 यॊ भॎ कख़  ॐऺचॎब埀� करतॊ ऻॖ ोजन पर
रॕफरꬅ ऺॕि ोदखॊई दॕतॕ ऻ塪�।

Table of Content / टॕबल ऑफ कॠ टॕⰂ ट 

Table of Figures / टॕबल ऑफ ोफग 塪ऺ�

Table of Authorities / टॕबल ऑफ अथॗ埉�रटॎि

All of the above / उपरख़縄 त ऺभॎ

Correct Answer :­Table of Authorities / टॕबल ऑफ अथॗ埉�रटॎि 

15)

Question Stimulus :­

Which of the following refers to the associative memory? / ोनៃ� न मꬅ ऺॕ 縄 यॊ एऺख़ोऺएोटश मॕमरॎ ऺॕ  ॠऺबॠोधत ऻॖ?

The address of the data is generated by the CPU / CPU 埉�ॊरॊ ोनोम塪�त डॕटॊ कॊ ए៪�塪� ॕऺ

The address of the data is supplied by the users / ꬅयख़縄 तॊओॠ 埉�ॊरॊ ꬅॕोहत डॕटॊ कॊ ए៪�塪� ॕऺ



There is no need for an address i.e. the data or content is used as an address /
ोकऺॎ ꬅकॊर कॕ ए៪�塪� ॕऺ कॎ जꬅरत नऻॎ ॠ ऻख़तॎ ऻॖ अथॊ塪�त डॕटॊ यॊ कॠ टꬅट एक ए៪�塪� ॕऺ कॕ ꬅप मꬅ उपयख़ग ोकयॊ जॊतॊ ऻॖ

The data are accessed sequentially / डॕटॊ ꬅोमक ꬅप ऺॕ ए縄 ऺ ॕऺ ोकयॊ जॊतॊ ऻॖ

Correct Answer :­There is no need for an address i.e. the data or content is used as an
address / ोकऺॎ ꬅकॊर कॕ ए៪�塪� ॕऺ कॎ जꬅरत नऻॎ ॠ ऻख़तॎ ऻॖ अथॊ塪�त डॕटॊ यॊ कॠ टꬅट एक ए៪�塪� ॕऺ कॕ ꬅप मꬅ उपयख़ग ोकयॊ जॊतॊ
ऻॖ 

16)

Question Stimulus :­

IŶ LiŶuǆ, ǁhat ĐoŵŵaŶd is used to saǀe the staŶdard output iŶ a file, as ǁell as displaǇ it oŶ the terŵiŶal? /
लॎन縄 ऺ  मꬅ, ोकऺ कमॊॠड कॊ उपयख़ग एक फॊइल मꬅ 𐀆 ट塪�डड塪� आउटपॏट ऺॕश (रोퟀ�त) करनॕ कॕ ऺॊथ­ऺॊथ इऺॕ टोम塪�नल
पर ोड𐀆 〄 लॕ करनॕ कॕ ोलए ोकयॊ जॊतॊ ऻॖ?

tee

grep

Đat

ŵore

Correct Answer :­tee 

17)

Question Stimulus :­

SpeĐialized prograŵ that alloǁs users to u�lize iŶ speĐifiĐ appliĐa�oŶ is Đlassified as / शऻ 𐀆 पॕषलॊइ𐀆 ़ड ꬅख़ꬅॊम जख़
ꬅयख़縄 तॊ कख़ ोशोष𐀆 ट ए〄 लॎकॕषन उपयख़ग करनॕ कॎ  ॏऺ ोशधॊ ꬅदॊन करतॊ ऻॖ, ोनៃ� न कॕ ꬅप मꬅ शगꬅक॑त ोकयॊ जॊतॊ ऻॖ ­

Rela�ǀe prograŵs / 埉�रलॕोटश ꬅख़ꬅॊम

AppliĐa�oŶ prograŵs / ए〄 लॎकॕषन ꬅख़ꬅॊम

RefereŶĐe prograŵs / रॕफरꬅऺ ꬅख़ꬅॊम

RepliĐate prograŵs / रॕ〄 लॎकॕट ꬅख़ꬅॊम

Correct Answer :­AppliĐa�oŶ prograŵs / ए〄 लॎकॕषन ꬅख़ꬅॊम 

18)

Question Stimulus :­

Programs are executed on the basis of a priority number in a / ꬅख़ꬅॊम _________
मꬅ ꬅॊयख़埉�रटॎ नॠबर कॕ आधॊर पर ए៚�韎�縄 यॐट ोकए जॊतॕ ऻ塪�।

Batch Processing System / बॖच ꬅॗऺॕो ॠऺग ोऺ𐀆 टम

Time Sharing System / टॊइम षॕय埉�रॠग ोऺ៭�म

Multiprogramming System / म⠅ टॎꬅख़ꬅॊोमॠग ोऺ៭�म  

None of these / इनमꬅ ऺॕ कख़ई नऻॎ ॠ



Correct Answer :­Multiprogramming System / म⠅ टॎꬅख़ꬅॊोमॠग ोऺ៭�म   

19)

Question Stimulus :­

IŶ MS EǆĐel, ǁhiĐh of the folloǁiŶg ŵethods ĐaŶŶot ďe used to eŶter data iŶ a Đell? / एमएऺ ए埣ॕ�ल मꬅ, ऺॕल मꬅ
डॕटॊ एॠ टर करनॕ कॕ ोलए ोनៃ� न मꬅ ऺॕ ोकऺ ोशोध कॊ उपयख़ग नऻॎ ॠ ोकयॊ जॊ ऺकतॊ ऻॖ?

Pressing an arrow key / arrow key दबॊनॊ 

Pressing the Tab key / Tab key दबॊनॊ

Pressing the Esc key / Esc key दबॊनॊ

Clicking on the formula bar / फॗमॐ塪�लॊ बॊर पर ៚�프क करनॊ 

Correct Answer :­Pressing the Esc key / Esc key दबॊनॊ 

20)

Question Stimulus :­

Each time you turn on your computer, it will check on the control file / जब आप कៃ� 〄 यॐटर ऑन
करतॕ ऻ塪� तख़ ऻर बॊर यऻ कॠ ट塪� ख़ल फॊइल ________ पर चॕक करतॊ ऻॖ।

command.com, io.sys

command.com, date.com, dir.com

command.com, io.sys, msdos.sys

chkdsk.exe

Correct Answer :­command.com, io.sys, msdos.sys 

21)

Question Stimulus :­

In Windows NT, how do you configure a printing pool? / ोशॠडख़ि NT मꬅ, ोꬅॠोटॠग टॐ ल कख़ कॖऺॕ
कॗ៚�ퟎ�गर करꬅ गॕ?

Associate one print device with multiple printers / एक ोꬅॠट ोडशॊइऺ कख़ अनॕक ोꬅॠट 塪ऺ� कॕ ऺॊथ
ॠऺब埀� करकॕ

Associate multiple print devices with one printer / अनॕक ोꬅॠट ोडशॊइऺॕि कख़ एक ोꬅॠटर ऺॕ
ॠऺब埀� करकॕ

Associate multiple print devices with multiple printers / अनॕक ोꬅॠट ोडशॊइऺॕि कख़ अनॕक
ोꬅॠट 塪ऺ� ऺॕ  ॠऺब埀� करकॕ

Associate one physical print gear port with multiple printers / एक ोफोजकल ोꬅॠट ोगयर
पख़ट塪� कख़ अनॕक ोꬅॠट 塪ऺ� कॕ ऺॊथ  ॠऺब埀� करकॕ

Correct Answer :­Associate multiple print devices with one printer / अनॕक ोꬅॠट ोडशॊइऺॕि कख़ एक
ोꬅॠटर ऺॕ  ॠऺब埀� करकॕ 



22)

Question Stimulus :­

In MS Word, If you press Home Key from the keyboard. It is _____. / MS Word मꬅ, अगर आप
कॎ बख़ड塪�  ऺॕ Home Key दबॊतॕ ऻ塪�, तख़ यॕ ­

moves the cursor beginning of the document / क 塪ऺ�र कख़ ड縄 यॐमꬅट कॕ आरॠभ मꬅ बुॊतॎ ऻॖ

moves the cursor beginning of the paragraph / क 塪ऺ�र कख़ पॖरॊꬅॊफ कॕ आरॠभ मꬅ बुॊतॎ ऻॖ  

moves the cursor beginning of the screen / क 塪ऺ�र कख़ 𐀆 ꬅॎन कॕ आरॠभ मꬅ  बुॊतॎ ऻॖ  

moves the cursor beginning of the line / क 塪ऺ�र कख़ लॊइन कॕ आरॠभ मꬅ बुॊतॎ ऻॖ

Correct Answer :­moves the cursor beginning of the line / क 塪ऺ�र कख़ लॊइन कॕ आरॠभ मꬅ बुॊतॎ ऻॖ 

23)

Question Stimulus :­

In Excel, To create a formula, you first ________. / Excel मꬅ कख़ई फॗमॐ塪�लॊ ोꬅएट करनॕ कॕ ोलए आप ऺबऺॕ पऻलॕ 縄 यॊ करꬅगॕ? 

Select the cell you want to place the formula into / उऺ ऺॕल कख़ ऺॕलॕ韀� करꬅगॕ ोजऺमꬅ आप फॗमॐ塪�लॊ लगॊनॊ चॊऻतॕ ऻ塪�

Type the equals sign (=) to tell Excel that you’re about to enter a formula / ए縄 ऺ ॕल कख़ बतॊनॕ कॕ ोलए आप उऺमꬅ
एक फॗमॐ塪�लॊ एॠ टर करनॊ चॊऻतॕ ऻ塪� बरॊबर कॊ ोचⰂ ऻ ;=Ϳ टॊइप करꬅगॕ

Enter the formula using any input values and the appropriate mathematical operators that make up your
formula / ोकऺॎ इⰂ पॏट शॖ⠅ यॐ तथॊ उपयॏ縄 त मॖथमॕोटकल ऑपरॕट 塪ऺ� कॊ उपयख़ग करतॕ ꬅए फॗमॐ塪�लॊ एॠ टर करꬅगॕ जख़ फॗमॐ塪�लॊ
बनॊतॕ ऻ塪�

Choose the new command from the file menu / फॊइल मॕनॏ ऺॕ नए कमॊॠड चॏनꬅगॕ

Correct Answer :­Select the cell you want to place the formula into / उऺ ऺॕल कख़ ऺॕलॕ韀� करꬅगॕ ोजऺमꬅ आप फॗमॐ塪�लॊ
लगॊनॊ चॊऻतॕ ऻ塪� 

24)

Question Stimulus :­

What is the easiest way to place same graphic at same place in all the slides in MS
Powerpoint? / एक ꬅॊोफक कख़ ऺम𐀆 त 𐀆 लॊइड्ऺ मꬅ एक ऺॊथ रखनॕ कॊ ऺशॊ塪�ोधक आऺॊन तरॎकॊ 縄 यॊ ऻॖ?

Place graphic in notes master / ꬅॊोफक कख़ नख़ट्ऺ मॊ𐀆 टर मꬅ रखꬅ

Place graphic in slide master / ꬅॊोफक कख़ 𐀆 लॊइड मॊ𐀆 टर मꬅ रखꬅ

Place graphic in handout master / ꬅॊोफक कख़ ऻ塪�डआउट मॊ𐀆 टर मꬅ रखꬅ

Place graphic manually in all slides / ꬅॊोफक कख़ ऺभॎ 𐀆 लॊइड्ऺ मꬅ मॖनॏअलॎ (मॊनशॎय ꬅप ऺॕ) रखꬅ

Correct Answer :­Place graphic in slide master / ꬅॊोफक कख़ 𐀆 लॊइड मॊ𐀆 टर मꬅ रखꬅ 

25)

Question Stimulus :­

What command is used to create a backup configuration? / ोनៃ� न मꬅ ऺॕ ोकऺ कमॊॠड कॊ उपयख़ग बॖकअप



What command is used to create a backup configuration? / ोनៃ� न मꬅ ऺॕ ोकऺ कमॊॠड कॊ उपयख़ग बॖकअप
कॗ៚�ퟎ�ꬅॕषन ोꬅएट करनॕ कॕ ोलए ोकयॊ जॊतॊ ऻॖ?

copy running backup / कॗपॎ रोनॠग बॖकअप

copy running­config startup­config / कॗपॎ रोनॠग­कॗ៚�ퟎ�ग 𐀆 टॊट塪�अप­कॗ៚�ퟎ�ग

config mem / कॗ៚�ퟎ�ग mem

wr mem /  wr mem

Correct Answer :­copy running­config startup­config / कॗपॎ रोनॠग­कॗ៚�ퟎ�ग 𐀆 टॊट塪�अप­कॗ៚�ퟎ�ग 

Topic:­ General Logical Reasoning
1)

Question Stimulus :­

Average of 16, 18 and 23 is / 16, 18 और 23 कॊ औऺत ऻख़गॊ ­

17

16

19

18

Correct Answer :­19 

2)

Question Stimulus :­

(18 × 3) / 2 + (14/5) × 10 + (46/23) × 16 = ?

79

68

87

85

Correct Answer :­87 

3)

Question Stimulus :­

Complete the series choosing the missing letter: / लॏퟷ� अퟀ�र चॏनकर 픅॑ॠखलॊ कख़ पॐरॊ कॎोजए: 

X, V, T, R, P, ______

L

M

O

N



Correct Answer :­N 

4)

Question Stimulus :­

Correct Answer :­  

5)

Question Stimulus :­

Akhil left home for the bus stop 20 minutes earlier than usual. It takes 15 minutes to reach the stop. He reached
the stop at 09.45 a.m. What time does he usually leave home for the bus stop? / अ៚�खल, बऺ ៭�ॗप कॕ ोलयॕ ऻर बॊर ऺॕ
20 ोमनट ज�ॎ घर ऺॕ ोनकलॊ। ៭�ॗप पर पꬅँचनॕ मꬅ 15 ोमनट लगतॕ ऻ塪�। शऻ ៭�ॗप पर ꬅॊय: 09.45 पꬅँच गयॊ। ऺॊमॊퟸ�त: शऻ
बऺ ៭�ॗप कॕ ोलयॕ घर ऺॕ ोकऺ ऺमय ोनकलतॊ ऻॖ?



9.45 a.m.

9.50 a.m.

9.55 a.m.

None of the above / उपयॏ塪�韐� मꬅ ऺॕ कख़ई नऻॎ ॠ

Correct Answer :­9.50 a.m. 

6)

Question Stimulus :­

In a test, 40 % of the students passed in Science; 50 % passed in English; and 10 % passed in both the subjects.
Find the percentage of students who have failed. / एक टॕ៭� मꬅ, 40% ोश埉�ॊथꬅ ोश៱�ॊन मꬅ उퟎ�ॎण塪� ऻख़ गयॕ; 50% अॠꬅॕिॎ मꬅ
उퟎ�ॎण塪� ऻख़ गयॕ; और 10% दख़ ॠनख़ ोशहयख़ ॠ मꬅ उퟎ�ॎण塪� ऻख़ गयॕ। उन ोश埉�ॊोथ塪�यख़ ॠ कॊ ꬅोतषत ोनकॊोलयॕ जख़ फॕल ऻख़ गयॕ ऻ塪�?

10 %

15 %

20 %

25 %

Correct Answer :­20 % 

7)

Question Stimulus :­

.



.

.

.

Correct Answer :­ . 

8)

Question Stimulus :­

If ABCDEF is coded ZYXWVU, then how is MERCEDES coded? / योद ABCDEF कख़ ZYXWVU ऺॕ कख़ोडत ोकयॊ
जॊतॊ ऻॖ, तख़ MERCEDES कख़ कॖऺॕ कख़ोडत ोकयॊ जॊतॊ ऻॖ?

IVNXVHVW 

NVIXVWVH

WHVVNXIV

XNVIWVHV

Correct Answer :­NVIXVWVH 

9)

Question Stimulus :­



The series given below contains a sequence of alphabets and numbers. Identify the INCORRECT combination: / नॎचॕ
दॎ गई 픅॑ॠखलॊ मꬅ अퟀ�रख़ ॠ और  ॠऺៀ�ॊओॠ कॊ ꬅम ोदयॊ गयॊ ऻॖ। गलत  ॠऺयख़जन पऻचॊोनयॕ:

i. 12a34ab5c78    ii. 12a34ab5c78   iii. 12a34ab5c78    iv. 123c4ab5c78

i

ii

iii

iv

Correct Answer :­iv 

10)

Question Stimulus :­

If MORALE is coded 296137 and CHARCOAL is coded 45164913, then how is COACH coded? / यिद MORALE कख़
296137 ऺॕ कख़ोडत ोकयॊ जॊतॊ ऻॖ और CHARCOAL कख़ 45164913 ऺॕ कख़ोडत ोकयॊ जॊतॊ ऻॖ, तख़ COACH  कख़ कॖऺॕ कख़ोडत ोकयॊ
जॊतॊ ऻॖ?

42864

39184

49145

38731

Correct Answer :­49145 

11)

Question Stimulus :­

2

3

1

0

Correct Answer :­2 

12)

Question Stimulus :­

During a march past, seven people are standing in a row. D is standing to the left of E, but right to C. B is
standing to the right of A and left of C. Similarly, F is standing to the right of E and to the left of G. Find out who
is standing in the middle? / मॊच塪� पॊ៭� कॕ दग़रॊन, ऺॊत लख़ग एक पॠ៚�韐� मꬅ खीॕ ऻ塪�। D, E कॕ बॊयॎ ॠ ओर खीॊ ऻॖ, लॕोकन C कॕ
दॊयॎ ॠ ओर। B, A कॕ दॊयॎ ॠ ओर खीॊ ऻॖ और C कॕ बॊयॎ ॠ ओर। उऺॎ ꬅकॊर F, E कॕ दॊयॎ ॠ ओर खीॊ ऻॖ और G कॕ बॊयॎ ॠ ओर।
៱�ॊत कॎोजयॕ ोक बॎच मꬅ कग़न खीॊ ऻॖ?



C

D

E

B

Correct Answer :­D 

13)

Question Stimulus :­

((396 × 4) / 6 – 444) + 800/2 = ?

320

220

300

250

Correct Answer :­220 

14)

Question Stimulus :­

If 21 sheep consume fodder as much as 22 cows do; then, how many sheep will eat as much fodder as 132 cows? /
योद 21 भॕीꬅ  22 गॊयख़ ॠ कॕ बरॊबर चॊरॊ खॊतॎ ऻ塪�; तख़, ोकतनॎ भॕीꬅ  132 गॊयख़ ॠ कॕ बरॊबर चॊरॊ खॊयꬅगॎ?

134

126

143

66

Correct Answer :­126 

15)

Question Stimulus :­

Find the distance travelled by a wheel of diameter 14 inches in 25 revolutions. / 25 प埉�रꬅमणख़ ॠ मꬅ 14 इॠच ퟟ�ॊऺ कॕ
पोऻयॕ 埉�ॊरॊ तय कॎ गई दॐ रॎ ोनकॊोलयॕ।

1,000 inches / 1,000 इॠच

1,100 inches / 1,100 इॠच

1,200 inches / 1,200 इॠच

1,300 inches / 1,300 इॠच

Correct Answer :­1,100 inches / 1,100 इॠच 

16)



Question Stimulus :­

The series given below contains a sequence of numbers. Identify the INCORRECT combination: / नॎचॕ दॎ गई
픅॑ॠखलॊ मꬅ  ॠऺៀ�ॊओॠ कॊ ꬅम ोदयॊ गयॊ ऻॖ। गलत  ॠऺयख़जन पऻचॊोनयॕ: 
11, 2, 21, 3, 32, 4, 41, 5, 51, 6

21

11

32

51

Correct Answer :­32 

17)

Question Stimulus :­

In a market survey, 20 % opted for Product A; 60 % opted for Product B; while the remaining people were
uncertain. If the difference between those who opted for Product B and those who were uncertain was 720, how
many people were covered in the survey? / एक बॊजॊर ऺशꬅퟀ�ण मꬅ, 20% लख़गख़ ॠ नॕ उ埱�ॊद A कख़ प ॠऺद ोकयॊ; 60 % लख़गख़ ॠ
नॕ उ埱�ॊद B कख़ प ॠऺद ोकयॊ; जबोक बॊोक लख़ग अोनोퟑ�त थॕ। योद उ埱�ॊद B कख़ चॏननॕ शॊलॕ लख़गख़ ॠ और अोनोퟑ�त लख़ ॠगख़ कॕ
बॎच अॠतर 720 थॊ, तख़ ऺशꬅퟀ�ण मꬅ ोकतनॕ लख़ग षॊोमल ोकयॕ गयॕ थॕ?

3,600

1,800

1,440

1,600

Correct Answer :­1,800 

18)

Question Stimulus :­

Which alphabet comes after the fourth alphabet from the 11th alphabet in the alphabet series? / अퟀ�र 픅॑ॠखलॊ मꬅ
11शꬅ अퟀ�र ऺॕ चग़थॕ अퟀ�र कॕ बॊद कग़न ऺॊ अퟀ�र आतॊ ऻॖ?

L

N

O

P

Correct Answer :­O 

19)

Question Stimulus :­

The value of (x2 ­ 4) is / (x2 ­ 4) कॊ मॊन ऻॖ ­

(x­4) (x+4)



(x­1) (x+1)

(x+2) (x­2)

None of the above / उपयॏ塪�韐� मꬅ ऺॕ कख़ई नऻॎ ॠ

Correct Answer :­(x+2) (x­2) 

20)

Question Stimulus :­

On dividing a number by 666, the quotient is 200 and the remainder is 100. Find the number. / एक  ॠऺៀ�ॊ कख़ 666 ऺॕ
ोशभॊोजत करनॕ पर, भॊगफल 200 और षॕहफल 100 ꬅॊ〄 त ऻख़तॊ ऻॖ।  ॠऺៀ�ॊ बतॊइए।

122200

133300

144400

100043

Correct Answer :­133300 

21)

Question Stimulus :­

Find the odd one out: / एक ोशहम ៱�ॊत कॎोजए:

Dadra and Nagar Haveli / दॊदर और नगर ऻशॕलॎ

Daman and Diu / दमन और ोदउ

Lakshadweep / लퟀ�埉�ॎप

Goa / गख़शॊ

Correct Answer :­Goa / गख़शॊ 

22)

Question Stimulus :­

Two individuals X and Y can assemble a machine in 12 days. If Y alone can assemble it in 48 days; then, X can
assemble it single­handedly in: / दख़ ퟟ�៚�韐� X और Y, एक मषॎन कख़ 48 ोदन मꬅ  ॠऺयख़ोजत कर ऺकतॕ ऻ塪�। योद अकॕलॊ Y
उऺॕ 48 ोदनख़ ॠ मꬅ  ॠऺयख़ोजत कर ऺकतॊ ऻॖ; तख़, X उऺॕ अकॕलॕ ोकतनॕ ऺमय मꬅ  ॠऺयख़ोजत कर ऺकतॊ ऻॖ ­

40 days / 40 ोदन

20 days / 20 ोदन

24 days / 24 ोदन

16 days / 16 ोदन

Correct Answer :­16 days / 16 ोदन 

23)



Question Stimulus :­

Four years ago, Ram was two times as old as Shyam. Six years later from now, Ram will be only 1.5 times as old as
Shyam. The present age of Ram and Shyam respectively will be— / चॊर शह塪� पऻलॕ, रॊम ퟪ�ॊम ऺॕ उꬅ मꬅ दख़ गॏनॊ थॊ।
अब ऺॕ छ्ऻ: शहꬅ बॊद, रॊम कॕशल ퟪ�ॊम ऺॕ 1.5 गॏनॊ ऻख़गॊ। रॊम और ퟪ�ॊम कॎ शत塪�मॊन आयॏ ꬅमष: ऻख़गॎ ­

20 and 16 / 20 और 16

24 and 14 / 24 और 14

26 and 15 / 26 और 15

30 and 17 / 30 और 17

Correct Answer :­24 and 14 / 24 और 14 

24)

Question Stimulus :­

Complete the series choosing the missing number: / लॏퟷ�  ॠऺៀ�ॊ चॏनकर 픅॑ॠखलॊ कख़ पॐरॊ कॎोजए: 
36, 6, 49, 7, 64, 8, 81, ______

10

9

12

13

Correct Answer :­9 

25)

Question Stimulus :­

If tuhina means fire, arka means moon, vari means sun, chandra means water, dhara means snow and hima means
air and anil means earth. / योद tuhiŶa कॊ मतलब ऻॖ आग, arka कॊ मतलब ऻॖ चंꬅमा, vari कॊ मतलब ऻॖ सूय塪�, chaŶdra कॊ
मतलब ऻॖ जल, dhara कॊ मतलब ऻॖ बफ塪�  और hiŵa कॊ मतलब ऻॖ हवा और aŶil कॊ मतलब ऻॖ पृퟜ�ी।

Which among these is at the centre of the solar system? / ोन៓� मꬅ ऺॕ ऺग़र प埉�रशॊर कॕ कꬅ ꬅ मꬅ कग़न ऻॖ?

chandra

vari

hima

tuhina

Correct Answer :­vari 

Topic:­ General Management
1)

Question Stimulus :­

Which of the following aspects of career planning includes the attitudinal characteristics that guide people
throughout their career? / जॎोशकॊ यख़जनॊ कॕ ोन៓�ोल៚�खत मꬅ ऺॕ कग़न ऺॕ पퟀ� मꬅ अोभश॑ोퟎ�क लퟀ�ण षॊोमल ऻ塪� जख़ लख़गख़ ॠ कख़
उनकॕ जॎोशकॊ कॕ दग़रॊन मॊग塪�दष塪�न दॕतॊ ऻॖ?



Career path / जॎोशकॊ पथ

Career anchors / जॎोशकॊ ៚�𐀆थरक

Career goals / जॎोशकॊ ल埣�

Career management / जॎोशकॊ ꬅबॠधन

Correct Answer :­Career anchors / जॎोशकॊ ៚�𐀆थरक 

2)

Question Stimulus :­

Aristocrat introduced suitcases with wheels. It is an example of / पोऻयख़ ॠ कॕ ऺॊथ  ॐऺटकॕऺ कॎ षॏꬅआत, ए埉�र៭�ख़ꬅॕट नॕ
कॎ थॎ। यऻ इऺकॊ एक उदॊऻरण ऻॖ

Augmented products /  ॠऺशोध塪�त उ埱�ॊद

Generic products / ऺॊमॊⰂ य उ埱�ॊद

Potential Products /  ॠऺभॊोशत उ埱�ॊद

Traditional products / पॊरॠप埉�रक उ埱�ॊद

Correct Answer :­Augmented products /  ॠऺशोध塪�त उ埱�ॊद 

3)

Question Stimulus :­

Which concepts advanced the argument that consumers will prefer products that are widely available and
inexpensive?/  ोकऺ अशधॊरणॊ कॊ तक塪�  ऻॖ ोक उपभख़韐�ॊओॠ कख़ ퟟ�ॊपक ꬅप ऺॕ उपल埧� और ऺំॕ� उ埱�ॊद प ॠऺद आयꬅगॕ?

Product Concept / उ埱�ॊद अशधॊरणॊ

Cost concept / लॊगत अशधॊरणॊ

Production concept / उ埱�ॊदन अशधॊरणॊ

Marketing concept / ोशपणन अशधॊरणॊ

Correct Answer :­Marketing concept / ोशपणन अशधॊरणॊ 

4)

Question Stimulus :­

Productivity  is expressed as / उ埱�ॊदकतॊ कख़ _____________ ꬅप मꬅ ퟟ�韐� ोकयॊ जॊतॊ ऻॖ।

Outputs / Inputs / आउटपॏट / इनपॏट

Inputs / outputs/  इनपॏट / आउटपॏट

Inputs + Outputs / इनपॏट + आउटपॏट

Outputs x Inputs/  आउटपॏट x इनपॏट



Correct Answer :­Outputs / Inputs / आउटपॏट / इनपॏट 

5)

Question Stimulus :­

Just­in­Time’ is a technique that originated in Japan and used for  / ‘ज៭�­इन­टॊइम’ नॊमक तकनॎक जॊपॊन मꬅ
आरॠभ ꬅई और इऺकॊ इំॕ�मॊल _________ कॕ ोलयॕ ऻख़तॊ ऻॖ।

Ensuring that employees are punctual / यऻ  ॏऺोनोퟑ�त करनॕ कॕ ोलयॕ  ोक कम塪�चॊरॎ पॊबॠद ऻ塪�

Better inventory control / बॕऻतर  ॐऺचॎ ोनयॠꬅण

Reducing payment of overtime wages / ऺमयख़प埉�र मिदॐ रॎ कॕ भॏगतॊन कख़ कम करनॕ

Optimising the outlay on incoming supplies / आशक आपॐोत塪� पर प埉�रퟟ�य कॊ अनॏकॐ लन करनॕ

Correct Answer :­Optimising the outlay on incoming supplies / आशक आपॐोत塪� पर प埉�रퟟ�य कॊ अनॏकॐ लन करनॕ 

6)

Question Stimulus :­

What is the ďest terŵ to desĐriďe the proĐess of a�eŵp�Ŷg to iŶflueŶĐe other people to a�aiŶ the orgaŶiza�oŶ's
oďjeĐ�ǀes? /  ॠऺगठनख़ ॠ कॕ उ錃ॕퟪ�ख़ॠ कख़ ꬅॊퟷ� करनॕ कॕ ोलए अퟸ� लख़गख़ ॠ कख़ ꬅभॊोशत करनॕ कॊ ꬅयॊऺ करनॕ कॎ ꬅोꬅयॊ कॊ
शण塪�न करनॕ कॕ ोलए ऺबऺॕ अ埜�ॊ पद कग़न ऺॊ ऻॖ?

Planning / यख़जनॊ बनॊनॊ

Controlling / ोनयॠꬅण करनॊ

Organizing / आयख़जन करनॊ

Leading / नॕत॑埍� करनॊ

Correct Answer :­Leading / नॕत॑埍� करनॊ 

7)

Question Stimulus :­

Debit balance in cash book means:______ / रख़की बऻॎ मꬅ  डॕोबट षॕह कॊ अथ塪� ऻॖ ______

Bank loan / ब塪�क ऋण

Overdraft / ओशर ड塪� ॊퟨ�

Favourable balance / अनॏकॐ ल षॕह

Unfavourable balance / ꬅोतकॐ ल षॕह

Correct Answer :­Favourable balance / अनॏकॐ ल षॕह 

8)

Question Stimulus :­

AŶ orgaŶisa�oŶ ǁhiĐh ǁas preǀiouslǇ perforŵed a fuŶĐ�oŶ as its aĐ�ǀitǇ deĐides to ask aŶother ĐoŵpaŶǇ, usuallǇ
aďroad, to perforŵ it oŶ their ďehalf aŶd eŶters iŶto a ĐoŶtraĐt. What is this proĐess Đalled? / एक  ॠऺगठन जख़ पऻलॕ



अपनॎ गोतोशोध कॕ ꬅप मꬅ एक कॊय塪� कख़ करतॊ थॊ, अब दॐ ऺरॎ कॠ पनॎ जख़ ोक मॏៀ�तॡ ोशदॕष ऺॕ ऻॖ, कख़ अपनॕ कॊय塪� कख़ पॐरॊ
करनॕ कॕ ोलयॕ कऻनॕ कॊ ोनण塪�य लॕतॊ ऻॖ और एक  ॠऺ ोशदॊ मꬅ ꬅोशोퟷ� करतॊ ऻॖ। इऺ ꬅोꬅयॊ कख़ 埀�ॊ कऻॊ जॊतॊ ऻॖ?

Laying off / बरऽॊំ� करनॊ

Outsourcing / बोऻ:�ख़तन

Delegation / ꬅ៚�ॊयख़जन

Crowd sourcing / भॎी �ख़तन

Correct Answer :­Outsourcing / बोऻ:�ख़तन 

9)

Question Stimulus :­

The process of transferring journal entry to ledger is termed as______________. / जन塪�ल ꬅोश៚�𐀆 ट कख़ बऻॎखॊतॊ मꬅ
𐀆 थॊनॊॠत埉�रत करनॕ कॎ ꬅोꬅयॊ कख़ ____कऻॊ जॊतॊ ऻॖ।

Journalizing / जन塪�लॊइोजॠग

Balancing /  ॠऺतॏलन करनॊ

Analyzing / ोश𐀆 लॕहण करनॊ  

Posting / ꬅोश៚�𐀆 ट

Correct Answer :­Posting / ꬅोश៚�𐀆 ट 

10)

Question Stimulus :­

WhiĐh of this is the fourth stage iŶ perĐeptual proĐess? / इनमꬅ ऺॕ ꬅ៚�ퟀ�៱�ॊन ꬅोꬅयॊ मꬅ चतॏथ塪� चरण कग़न ऺॊ ऻॖ?

Oďserǀa�oŶ Phase / अशलख़कन चरण

Behaǀiour respoŶse/ ퟟ�शऻॊर ꬅोतोꬅयॊ

IŶterpreta�oŶ stage / ퟟ�ॊៀ�ॊ (ोनश塪�चन) चरण

SeleĐ�oŶ of s�ŵuli / उ錃ॎपन कॊ चयन

Correct Answer :­IŶterpreta�oŶ stage / ퟟ�ॊៀ�ॊ (ोनश塪�चन) चरण 

11)

Question Stimulus :­

In deciding the appropriate level of current assets for the firm, management is confronted with a trade of
between _____ / फम塪� कॕ ोलए शत塪�मॊन प埉�र ॠऺपोퟎ� कॕ उपयॏ韐� ំ�र कॊ ोनण塪�य लॕनॕ मꬅ, ꬅबॠधन _____ कॕ बॎच कॕ
ऺमझग़तॊकॊरॎ ऺम៱�यन कॊ ऺॊमनॊ करतॊ ऻॖ।

Profitability and risk / लॊभꬅदॊतॊ और जख़៚�खम

Liquidity and marketability/ तरलतॊ और ोशꬅॕयतॊ

Equity and debt / इ៚�ퟵ�टॎ और ऋण



All the above / उपयॏ塪�韐� ऺभॎ

Correct Answer :­Profitability and risk / लॊभꬅदॊतॊ और जख़៚�खम 

12)

Question Stimulus :­

Financial statements include / ोशퟎ�ॎय ोशशरण मꬅ षॊोमल ऻ塪�:

profit and loss account only. / कॕशल लॊभ एशॠ ऻॊोन खॊतॊ।

Balance sheet only. / कॕशल बॖलꬅऺ षॎट

cash flow statement only. / कॕशल नकदॎ ꬅशॊऻ कॊ ोशशरण

all of the above. / उपयॏ塪�韐� ऺभॎ

Correct Answer :­all of the above. / उपयॏ塪�韐� ऺभॎ 

13)

Question Stimulus :­

The aďďreǀia�oŶ EOQ staŶds for / ई.ओ.埀�ॐ कॊ  ॠऺ ोퟀ�ퟷ� ꬅप ऻॖ ­

Economic Order Quantity / इकख़नॗोमक ऑड塪�र ퟵ�ॊॠोटटॎ

Environmentally Operational Quality / इॠशॊयरनमꬅटलॎ ऑपरॕषनल ퟵ�ॊोलटॎ

Efficient Operational Qualifier / एퟳ�ॎोषयꬅट ऑपरॕषनल ퟵ�ॊलॎफॊयर

Ergonomic Office Quality / एगꬅनॗोमक ऑोफऺ ퟵ�ॊोलटॎ

Correct Answer :­Economic Order Quantity / इकख़नॗोमक ऑड塪�र ퟵ�ॊॠोटटॎ 

14)

Question Stimulus :­

__________ structure  refers to many hierarchical levels and narrow span of control / _________  ॠऺरचनॊ, कई 픅ॕणॎब埀�
ំ�रख़ ॠ और ोनयॠꬅण कॕ  ॠऺकॎण塪� ोशំ॑�ोत कख़  ॠऺदोभ塪�त करतॎ ऻॖ।

Tall / ऊॠ चॎ

Wide / ोशំ॑�त 

Flat / ऺमतल

Small / लघॏ

Correct Answer :­Tall / ऊॠ चॎ 

15)

Question Stimulus :­

Cash flow statement classifies cash flows on the basis of / ऩदॎ ꬅशॊऻ ोशशरण, ऩद ꬅशॊऻ कख़ इनकॕ आधॊर पर
शगꬅक॑त करतॊ ऻॖ



Operating activities only / कॕशल प埉�रचॊलन गोतोशोधयॊॠ

Operating and financing activities only / कॕशल प埉�रचॊलन और ोश𐀆 तॎय गोतोशोधयॊॠ

Operating and investing activities only / कॕशल प埉�रचॊलन और ोनशॕषॎ गोतोशोधयॊॠ

Operating, financing and investing activities /  प埉�रचॊलन, ोश𐀆 तॎय और ोनशॕषॎ गोतोशोधयॊॠ

Correct Answer :­Operating, financing and investing activities /  प埉�रचॊलन, ोश𐀆 तॎय और ोनशॕषॎ गोतोशोधयॊॠ 

16)

Question Stimulus :­

When a manager transmits the information regarding the organization to the outside world, which of the following
roles is he performing?  /जब एक ꬅबॠधक, बॊऻर कॎ दॏ ोनयॊ कख़  ॠऺगठन कॕ अॠदर कॎ  ॐऺचनॊओॠ कॎ जॊनकॊरॎ पꬅॠचॊतॊ ऻॖ तख़ शख़
ोन៓�ोल៚�खत भॐोमकॊओॠ मꬅ ऺॕ कग़न ऺॎ भॐोमकॊ अदॊ कर रऻॊ ऻख़तॊ ऻॖ?

Spokesperson / ꬅश韐�ॊ

Planning / यख़जनॊ

Leading / नॕत॑埍�

Selling / ोबꬅॎ

Correct Answer :­Spokesperson / ꬅश韐�ॊ 

17)

Question Stimulus :­

Profitability index is also known as / लॊभꬅदॊतॊ  ॐऺचकॊॠक कख़_________ भॎ कऻॊ जॊतॊ ऻॖ।

ARR / ए.आर.आर

NPV / एन.पॎ.शॎ

IRR / आई.आर.आर

Benefit Cost ratio / लॊभ लॊगत अनॏपॊत

Correct Answer :­Benefit Cost ratio / लॊभ लॊगत अनॏपॊत 

18)

Question Stimulus :­

Bonds, debentures and term loans are a part of / बॠधपꬅ, ोडबꬅचर एशॠ आशोधक कज塪� इऺकॕ ोऻퟘॕ� ऻ塪�:

Current Liabilities / शत塪�मॊन दॕनदॊ埉�रयॊँ

Current assets / शत塪�मॊन प埉�र ॠऺपोퟎ�

Long term liabilities / दॎघ塪�कॊोलक दॕनदॊ埉�रयॊँ

Investments / ोनशॕष

Correct Answer :­Long term liabilities / दॎघ塪�कॊोलक दॕनदॊ埉�रयॊँ 



19)

Question Stimulus :­

XYZ Ltd. Prepares P & L Account for the year 2015­2016. It is following a / XYZ ोलोमटॕड, शह塪� 2015­2016 कॕ ोलए
P एशॠ L खॊतॊ तॖयॊर करतॊ ऻॖ। यऻ इऺकॊ अनॏऺरण कर रऻॊ ऻॖ

Realization concept / बख़ध अशधॊरणॊ

Duality concept / 埉�ॠ埉� अशधॊरणॊ

Time period concept / ऺमय अशोध अशधॊरणॊ

Going concern concept / ोशकॊऺमॊन अशधॊरणॊ

Correct Answer :­Time period concept / ऺमय अशोध अशधॊरणॊ 

20)

Question Stimulus :­

Which of the following is concerned with an individual’s general attitude towards his/her job? / ोन៓�ोल៚�खत मꬅ ऺॕ
埀�ॊ, उऺकॕ/उऺकॎ कॊय塪� कॕ ꬅोत ퟟ�៚�韐� कॕ ऺॊमॊퟸ� 縄ोퟷ�कख़ण ऺॕ ऺះ�ॠोधत ऻॖ?

Organizational commitment /  ॠऺगठनॊ埱�क ꬅोतब埀�तॊ

Job satisfaction / कॊय塪�  ॠऺतॏ៚�𐀆 ट

Job involvement / कॊय塪� मꬅ भॊगॎदॊरॎ

Organizational behaviour /  ॠऺगठनॊ𐀆 मक ퟟ�शऻॊर

Correct Answer :­Job satisfaction / कॊय塪�  ॠऺतॏ៚�𐀆 ट 

21)

Question Stimulus :­

SBU refers to / एऺबॎयॐ इऺॕ  ॠऺदोभ塪�त करतॊ ऻॖ

Strategic Business unit / ऺॊम埉�रक ퟟ�शऺॊय इकॊई

Sound Business Unit / 埜�ोन ퟟ�शऺॊय इकॊई

Small Business Unit / लघॏ ퟟ�शऺॊय इकॊई

Seasonal Business Unit / मग़ऺमॎ ퟟ�शऺॊय इकॊई

Correct Answer :­Strategic Business unit / ऺॊम埉�रक ퟟ�शऺॊय इकॊई 

22)

Question Stimulus :­

Which of the following statements concerning grapevine is not correct? / अपॏퟷ�  ऺमॊचॊर (ꬅॕपशॊइन) कॕ  ॠऺदभ塪� मꬅ
ोन៓�ोल៚�खत मꬅ ऺॕ कग़न ऺॊ कथन ऺऻॎ नऻॎ ॠ ऻॖ?

Grapevine can be eliminated over time with sustained effort. / अपॏퟷ� ऺमॊचॊर (ꬅॕपशॊइन) कख़ ोनरॠतर ꬅयॊऺ कॕ
ऺॊथ ऺमय पर ऺमॊퟷ� ोकयॊ जॊ ऺकतॊ ऻॖ।



Some managers use grapevine to their advantage. / कॏ छ ꬅबॠधक अपनॕ फॊयदॕ कॕ ोलए अपॏퟷ� ऺमॊचॊर (ꬅॕपशॊइन)
कॊ इំॕ�मॊल करतॕ ऻ塪�।

Grapevine can and often does generate harmful rumours. / अपॏퟷ� ऺमॊचॊर, अ埣�र ऻॊोनकॊरक अफशॊऻख़ ॠ कख़ उ埱�埳� 
करतॕ ऻ塪� यॊ कर ऺकतॕ ऻ塪�।

Grapevine is unstructured informal communication. / अपॏퟷ� ऺमॊचॊर, अ ॠऺरोचत अनग़पचॊ埉�रक  ॠऺचॊर ऻख़तॕ ऻ塪�।

Correct Answer :­Grapevine can be eliminated over time with sustained effort. / अपॏퟷ� ऺमॊचॊर (ꬅॕपशॊइन) कख़
ोनरॠतर ꬅयॊऺ कॕ ऺॊथ ऺमय पर ऺमॊퟷ� ोकयॊ जॊ ऺकतॊ ऻॖ। 

23)

Question Stimulus :­

Which of the following types of interviews attempts to observe how an applicant performs under pressure? / ोन៓�
मꬅ ऺॕ कग़न ऺॕ ꬅकॊर कॊ ऺॊퟀ�ॊ𐀆 कॊर, यऻ ꬅॕퟀ�ण करनॕ कॊ ꬅयॊऺ करतॊ ऻॖ ोक दबॊश मꬅ आशॕदक कॖऺॕ ꬅदष塪�न करतॊ ऻॖ?

Formal interview / औपचॊ埉�रक ऺॊퟀ�ॊ𐀆 कॊर

In­depth interview / गऻन ऺॊퟀ�ॊ𐀆 कॊर

Stress interview /  ꬅोतबल ऺॊퟀ�ॊ៕�ॊर

Unstructured interview / अ ॠऺरोचत इॠटरퟟ�ॐ 

Correct Answer :­Stress interview /  ꬅोतबल ऺॊퟀ�ॊ៕�ॊर 

24)

Question Stimulus :­

WhiĐh of the folloǁiŶg is aŶ eǆaŵple of ͚use of fuŶds͛? / ोन៓�ोल៚�खत मꬅ ऺॕ कग़न 'धन कॕ उपयख़ग' कॊ एक उदॊऻरण ऻॖ?

Increase in fixed assets / 𐀆थॊयॎ प埉�र ॠऺप៚�𐀆 त मꬅ श॑៚�埀�

Decrease in cash / नकदॎ मꬅ कमॎ

Tax refund /   कर शॊपऺॎ

Increase in any liability /  ोकऺॎ भॎ दॊोय埍� मꬅ श॑៚�埀�

Correct Answer :­Increase in fixed assets / 𐀆थॊयॎ प埉�र ॠऺप៚�𐀆 त मꬅ श॑៚�埀� 

25)

Question Stimulus :­

Which of the following is NOT an example of upward communication? / ोन៓� मꬅ ऺॕ कग़न ऺॊ  ऊ埜�塪�मॏखॎ  ॠऺꬅॕहण (अपशड塪�
कៃ� यॐोनकॕषन) कॊ एक उदॊऻरण नऻॎ ॠ ऻॖ??

Corporate policy statement / कॗपꬅरॕट नॎोत श韐�ퟟ�

Purchase order summary / ꬅय आदॕष ऺॊर

Sales report / ोबꬅॎ 埉�रपख़ट塪�

Production report  / उ埱�ॊदन 埉�रपख़ट塪�



Correct Answer :­Corporate policy statement / कॗपꬅरॕट नॎोत श韐�ퟟ� 


